CHAPTER

ordering of Worcs/
sentences

Pattern Of Questions

"MCds are o

In this section, some sent UeR 1 a random ordey
fﬂr"ls a f!ll'l’”””y,ﬁlf Passage el Freis

These sentences when placed in a specific sequence Jorder
thﬂi‘:d he {:},‘;’IL-I.H’. :'nf!»l']"i'Hf ang sensihle

o ¢hoose thay correct sequence from the options as his answer. This sequence

pattern 1
In this type ol queslions, g starting sentence and g
pattern on which guestions gye asked ip ¢
A student has to place them in prop

finishing sentence of the passage 1s given. This is the most common

DS, Along with these two other four sentences are given in a random order.
P sequence.,

g1 : A devastating earthgquake hi Mexicn

. ) f
56 : The condition of 100 others was reported unsafe.
P Center of earthquake was in north Q : It was second carthquake in last decade to hit Mexico.
R ¢ More than 1000 people were killed 5 ¢ Reason of these frequent earthquakes is not discovered vet.

Pattern 2
A starting sentenece js given along
these disordered sentences in pro e
All such students

with fouy zentences which are

given in random order. Question asks to arrange
I sequenceg

P gel suceess

@ : who are honest and hard working '
R : and recognition S0 every walk of life

Pattern 3
A finishing sentence is given along with four sentences which are
arrange these disordered sentences in proper sequenece
P: Whois going to become chiel minister of Delki? Q
R : Name will be known to every one. b

given in random order, Question asks students to

Election will be held in September 2012.

Upcoming elections hold the answer to this gquestion
It will no longer remain a question

* Sentences in the original paper are much more lengthy and complic
Fattern remains the same.

How to recognize the First Sentence of the
First sentence of passage.
-* Astudent should read all the sentences careflully and then judge the theme/topic/main point/purpose /main subject of
'-\th'! Passage. First Sentence should introduce the topic of passage. Sentences with words - it, these, so, hence, but,
therefore, subsequently, secondly, then- ravely comes at beginning of a passage. A sentence which takes reference of
fomething and this something looks to be mentioned in other sentences can not start the passage. A starting sentence
Usually starts with a definition, an introductory statement of a poliey/discovery/invention /method/procedure/ a
Concern ete Following sentences elaborate on this introductory statement. These sentences are mostly generic in
Nature or gtyle. :
oW to re:ngnize the Last Sentence of the passage? Which sentence can not be the
A8t sentence of the passage.

ated than given in these examples. But the

passage? Which sentence can not be the’

H
L



558 CDS pathfinder

Directions (Q.Nos. 1
Rearronge these parts wfrrch are lobelled P, Q, R and 5 to pro
anas ]
1. Little 3. Then
P . that he had been let down . P it struck me
Q : stood by all these yedrs Q : ol course
R : did he realize B : suntable it was
5 : hy a colleague whom he had ' S : how emmently
The proper sequence should be The proper sequence should be
[s) RPSO {u) RSOP  [c) QSRP {d] QSPR {a) SPOR (b} GSRP (¢} PSRQ (d) QPSR i
2 There was 4. The grocer
i’} ﬂeeded lor it in wﬂr-,rd_a-,r life P . did not listen to the protests pf customer
G ;: time when each famly Q . who was in the habit of weighing less '
ok or itself most of the things it R : whom he had cheated -
! actually produced S . with great audacily
e proper sequence should be The praper sequence should he
() PRSQ (b OSPR () RS () POsR

o+ wsunlly dues not have much information ot these are jy.

y these sentenees start with worids or |J|.“.‘““" the
ra-!m.-urui]h-unm-quuntr_vhn the endfas o result etedf a sentence 1:_",1"'
from the other sentences then 1t 15, in all probabiln “hh‘h
ats then the events should he placed inoa -':tgu:-: CAn
ast one should be chosen as the finishing -‘t:!lu_-:;i.::

Last sentionee of passig

¢ of the other sentences Ulsuall

i hest way
il abwut conten
Judedl think flor futu
at ieamplete part ean be fitin
o is about the sequence of eve

ptible reason and then the |

passaRe
peeflection or an
feiftherefore/to cone
lboks to be incomplete and th
not be the last sentence. Il passag
neCurrence hnscd on some perce

Joenee

lagical
ol passage
How can different senten
To find small sequences 15 of utmost importianed
ihen linking these sub-sequences o miake a mean
tors nm,!,Imt,.«'u,whlh-.huw.lhrn,w]wn are very import

jonship cin be g vithid hink
an be HﬁEzll!'iBhﬂl —Past

find small sequences.

ces be linked to
all about searching these sub-sequences gpg

i exam. This section 1=
inglul passage. Various links can be found

¢ (onnec ant hinks
e« Cause cifect redat

s Chronological Scgquence ol events ©
e Noun pronoun relation can b established. In First sentence a

they, we. ete will be used to indicate that particular name.

What should be done when one does not find a lead into the question i.e. unable to
find First, Last or In between sequences?

In this scenario Option Method should be used.

Case 1 When a sub-sequence can be cstablished.
o Suppose Vvou are successful to establish a subsequence like
have this sequence. And evaluate other options on basis of logie

Case 2 When a sub -sequence can not be

Present, Future

name will be given then it, this. that, these, he. she

PQ. SP.RS etc then eliminate the options which do nat
and Mow of passage

established
e One by one read all the options and then decide on logic and Mow of passage for the best option. There 1s no
hod but still ean be mastered by

substitute for reading all the options in this case. This is a time consuming met
ance. A good reading habit of good materials will be helpful
Other important things that should be kept in mind while attempting this section.
od on some loge e Every passage has o central point of discussion.
a coherent whoele of amall parts

preparing well in adv

e [Every passage 18 has

has a sensihle e Every pussage 18

fow of mformation.
kind of test, you are given

e Every pussngi
aninelul result 15 obtained

cos is an indispensable part of the CIIS examination. In this

Ordering of wordsfsenten
words, phrases or sentenees an a jumbled manner. You have Lo rearrange them so that a me
Only sound knowledge of Enghsh languige o nd constant practice enable a student to complete the test successtully
Exercise | | |
ome parts hove been jumbled up

there is o sentence of which s

to 20) In eoch question given below,
duce the correct sentence. Choose the proper option from given

fa) QRSP [h) ROPS fc) RSPQ {fl QSRP



pe dlialled Irequently
ﬂ'“"'g m].ephaﬂi!
r ™ rother could not comtact me
o " had Jeft no mlonnat]un
¢ 'mI had gone oul of office
s 38 0 sequence should be

P HOUT T SORP () QPSR

e
il 075
jan 5
W:Fufl?e proper sense of responsibilities
e Just need
' in 8 e
developmient
sequence should be

i} Q5RP I} QSPR

id} SPoR

The POt
1 S0PA

|t wWas . .

n keeping with my mogd

. 4 soft swhmer evemng

o as [ walked sedalely

5 '1,, the direction af new hoyse

fhe propet sequence should he
A0 bl DRFS (c) OPRS

[0l PQRS

{d) SqpR

. With ker bady

Ty ench woman

7 - dragging het unwilling feat
Q- weak and infirm

i developed with age

% she persisied ' her mission
The proper sequence should he

4 FQRS bl OPRS ic) RQPS

When he
P did not Know
@ he was nervous and
# heard the hue and cry at midnight
5 what w do
e proper sequence should be
Tzl RS il QSPR [c] SOPR

i) SRPO

Id] PORS

L rofunited suicide
where she had put up
who had come to Kolkala
-Eﬂel;;mping from the first floor of the balcony of
oke]
The proper sequence

) should be
& PROS (b] QSKP

Ic} RPSQ (€) SRQP

;f:";‘ eiNg my host in this mood

R g IE!med it praper to take leave

Sy had frequenily done before

The Whad been my intention to pass the night there
ty DPGS:E t saquence should be
A bl GRPS (o) SPOR
p %8 0 b

Q. m‘“"ﬁ their school examination
u_h'ﬂ' Was due to start
> s 2 expadition
Ty p“a onth's time
44 *equence should be
&) Rasp Ik RPOS

(dl SRPQ

(dl SPRQ

13

14,

15.

iB.

17.

18.

19.

Ordering of Words/Sentences

They fell safer

P to watch the mountamn

G of rmore than five miles

R : as they setled down

5 : from a distance

The proper sequence shoutd be

(3) RPSQ  (b) RSQP  [¢) PSR (d) PRSQ
I you need help
P : promptly and politely
Q : ask for attendants
R : to help our customers
5 : who have instructions
The proper saquence showd be
{a} SOPR  (b) QPSR [e} CISRP fd) SQRP
He was 5o kind and genercus that
P : he not only
@ : made others to do so
R : but alsg
3 : heiped them himself
The proper sequence should he
fa}) PSRO {b] SPOR i) PRSO fd] QPRS
Work is the one thing
P : and without jt
Q : that is necessary
E : 10 keep the world going
5 : we should all die
The proper sequence should be
{a] QPSR {b] RPOS {c] SRPQ td QRPS
1 read an advertisement that said
P : posh, sir-conditioned
{1 : gentlemen of taste
R : are available for
5 : fully fumished rooms
The proper sequence should be .
(3] FORS (Bt PSR {] PSQR id) SHPQ
It has been established that
F : Einstein was
& . although a great scientst
R : weak in arithmetic
S : nght from his school days
The proper sequence should be .
(3 SRPQ | {b) QPRS {c} QPSR {d) ROPS
I was ’
P : and stay for few days in Delhi
Q. when my lather told me
B : very excited
s :ﬂlatlmuldgommhun
The proper sequence should be
3) PORS (b} ROSP aRsp () SPar
All such students
P . get succasg
Q : who are honest and R i
R - and recognition | | Working
$': in every walk of life
The proper sequence shouyg be
WHSPRQ ) PROS gy qpas

{d} PSRO
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21

22.

23.

24,

il

28,

Z7.

29.

30,

‘R : no thought has ¢

ravious yeds _
tory that India said was _“5
line . with China laying

fow in lhe P
unks of Lemi
A hdahan

- Cpuite d@
. 1o large €
. ovel the

2o

jd) PSRQ

p . Cnckelers fail 1o 2ero N OO g FEASON
Q : well against a specific opposton

g . for they playing exceptionally

5 . past or preseilt -

ja) SPQR (o) PSOR
; The de'luge in merety manamqnd

(d) PSRQ
chaos ad little

(c] SPRO

r
aF
Q : Mumbal showed ihat

one nto upgrading tha city

g . successve slate govemments have beeh
(a} OSPR ib} PRQS fc) ORPS id) PSOR

1t 15 guant strides In development

P

O - so thal we make
R al like weslem Couniries
s

. mote and more ration
- ugh bme we peromée
(o] PRI ic) SRQP {d] PORS

p . Compared lo was an occasion of stately pageanty
Q : the buth of the Republic "
R - accampanied BY partition riots
S : the dawn of independence.
{a) ORP {o) FROS fc) SRQP fd) PORS

p - The 1ebellion standing up for their rights
O : may be slow and sporadic
R : youngslers hecome the unhkely heroes
g - but i is happening as
fal O5RP {u) PRSQ [} FSRO (d) QRSP
. The United States lo gell Uranjum, nuclear
nubines, fighter planes

G ; to [ndia is pow offering
R . Which demed even helicopter nuts and screws

5 : and even Patricl missiles.

() ROSP b} QRPS {c) QRSP {d) QP
B : Dn-.lg apuse dies dowmn soon after
O . that jollows every expose
R :bmmehueandcryin
§ . an increasing vice among ,party ~happing elites.
{a) QPSR {b) GASP (c) SRQP {g) SPOR
P - But many and in escaping guch misfortunes
Q : of our fiends may be invaluable misfortunes
R - which threaten us are not inevitable
S . the advice amd active assistance

fa} ROSP  [b] SPRO icl APSQ {d} SCRP
p . Far dilferent beauties of nature and art to be
found in, foreign lands
g their native couniry with minds prepared by
P s the effect of travels upon who leave
5 :“culture feel

@ RSP {ol OSPR (d) SPOR

(c) RSOP

31

3z

34

35.

16.

37.

41.

: For N making the great eXperin,
Al

P
guvenunent people i |-
£y : the party in power should have a
R : by consent rather than by me,.cmn"'_“l@rh-f
& . is not sufficient that Intelligent At
the Taking p,
{a) SOPR (o] PR3O (c) PSRC ] Sy h

p : You are not to destroy or dictata g
Q : bom a kng's son My,
R - or setlle your differences amicably wiy,

S : you can omly expect t share their fale the:.

p : It is of poets have no prachical valye
£y + accurate 10 refer to poets as dreamers
R : beyond the realm of literary diversion
S : but it is no discerning to infer that the o
() gRPS  ([YPSOR  [DPRG wn |
. One common mistake they have thought .
would be a very goed thing :
. whether they worked hard or lved quie 4
. if everybody had exactly the same amouw .
money :
. that many people have made is this
(a) SPRQ {bl GSRP (¢] SPOR fal 08P

It is his nabve country after travelling in ficas

(L X o T -

lands
. difficult believe
:matanymancanbem
. gpinitually dead as to have no kve for

. We met this evening

. on our way hceme

. pMr. and MIS. Gupta

. and asked them if they would b
{a) QRPS (b} PORS (¢} ROSP-

p : The man
Q : made a complaint
R . at the police station

e iree

wWRpT LED Y

g . whose cycle was stolen
{a) PORS {b) PRSO {c} PSOR dl ARG

p : Please  egually

o : share the prize money

R : that all are satisfied

S : among your friends to make !
) QRSP b} POSR 1 () 0%

F : In the middle af

Q : he stopped

R : his speech

5 . to take a glass of water OB I
() QRoP () ORPS [ OFR® A

P : She introduced me at the party

¢ : [ had met

E : to 4 man

S : the previous night 4 PO
(o} RPGS (b} ROPS  idl spRa !

P ; The nun who was the principal

Q : called an assembly

R : of my grand dapghters schood dﬂmﬂ“"
S . {0 announce the result of ﬂﬁmd‘wﬁw
{c) POSR

[ab PORS (o) PRUS




;15 addressed to Mr. Shah

te ed to
s T ritten in Guirati

which _iﬁ
':SH‘S (b) QPRS  [c) QRSP (d) RSPQ

were senl by mistake

;
[ 0
§

bl "
clothes

+ [ather
nﬁ-,,was very much surprnised

g: W i1 ordered

iul qen () POSR c] PORS (d} SPOR
.]’q’ﬂhﬂ{!? in the house was Kepl
; where the key
d med to know
° o the main door
*ga0rs O QPRS ([ SOPR (4] Rase
i
gelf taught experts expected to go
g |mﬂu|;h which
3 - (he escapers
¢ Pnapdrad maps of the country.
" pRs  [b) SORP [c) SRQP {d) PROS
s - She introduced me at the party
-1 had met
7 10 d man
i - the previous night
J 805 (b} ROPS [c] SPRO [d) PORS

7 The president a brief vacation at Shimla
- reluming from

i on order to attend a press conference
8- with his wife and children

# SRP [b) OPRS (c) SQPR (d) RsQP
i - They forget

G between defeat and victory ,
i ihat the conditions of welfare have so altered

5 - that there 1s not much difference today
3 SRPO

(b] POSR lel RSOP {d} PRSQ
r PO the fingers and thumbs

gllm‘iﬂmnnts are

‘e marks made by

™€ ndges on the ends

THRS (b PGSR (o) QRSP (dISPOR
q The p'EﬂECI
s 2 intuitive gne

ration

» D W POSR (o) PSOR (d) SQRP
0 HY come

1 % wh

] ! mindg '15'5[1]] Gl

s P i Bl Py =T (e Lk

a2,

o4,

55

56.

67.

o8.

59.

60.

561

Ordaring of Words/Sentences
S ¢ and body is relaxed
la) PORS (b} POSR
c] RPSQ d) RPOS
P : Chnical tnals were designed to
Q : test the efficiency of
R : the first phase of
S : the method.
a) PORS (b) RSOP  c] RPOS (d) SPOR
P To perform
Q : brains are engineered
R : complicated tasks
5 : simple as well as )
(3) PORS  [b) SRQP  (c) QPRS [d) QPSR
P : Companies reduce
Q1 : competition
R : by acquinng smaller or
S : rival companies.
fa) PORS  (b) SRQP  [c) QPRS (d) QPSR
P : and ten kilometers away
Q : from Santorin lies
R : The Crete
S : One Hundred
fal PGSR [b) SPOR  [c) SPRO (d) OSPR
P : Minoan World
Q : the artifacts unearthed
R : so far
S : do give us precious insights into
{al POSR (b] SPOR lc] QRSP (d) QSPR
P : Apart from this -
Q ! their work has
R : basic problem
5 : a number of Naws as well
{a) PQSR (] PROS (c] RPOS {cl] SROP
P : But most men of great creative power
Q : are not interested in becoming nich
R : for them a modest subsistence
5 : would suffice.
{a) RSPQ (bl PRSO [c) PARS (d] PSQR
P : Chief Justice
Q : Earl Warmn was one of
R : the greal activist judges
S ¢ of supreme court
(a) PSRQ  (b) QPSR [¢) QRSP (d) PQRS
P ¢ incorporated within himsel knowledge
Q : he is fit for the role
R : if an individual has
S : and approprate skills then
(a) QPSR (b) ROPS (o) RPSO (d) ORsP



Exercise 1l

Directions (CLNos. 1 to 50] fn questions befow, eoch passade 0

e J ioning and named 3, ond 3g
?r::: ’:;:hﬁ,f:ﬂﬂ"f; 0, R and 5 find out the proper arder Jor b

1. §,: Since the suies there has been and mCt_easing
interest in neurophysiclogy. wmil;d dﬁ with the
neural bases of mental acOVt aviour. '

8, : So far the yournal has puhhsh_ﬂl the mixture ©

articles meluding repe e
P . [t has format which is Very jsmu]ii to that of
Prain and Language. 2 sister JOUED
¢ : Since then. m 2 pumber of jowmnals devoted

entirely to this area, many research articles have

FY ared.
R : Bﬂll):re the 1860’ when this was the concem of

a small number of investigalors, resear:p articles
were scattered in warious neurolog:lcal journals.
$ : 'Brain and cognition’ is cne such journal.

The proper sequence should be
(o) ROSP  (b) QRSP QSPR fd) RSPQ

2. S, She said on the phone thal she would repon for
the duty next day. _
S, : Eventually we reported to the police.
P . We waited lor few days then we decided to go
ke her place.
<} : But she did not.
R : We found it locked.
5 . Even after that we waited tor her quite a few 6

days.
The proper sequence should be
fa] PRSQ  Ib) QPR {c} QPRS {d) SOPR

3 S;: A ferce exists between every body in the
universe, '
S, : The greater the mass, the greater is the earth’s
force of atzaction on it. We can call this force of
attraction gravity. .
P : Normally it is very small but when one of the
bodies is a planel, like earth, the force is
Q% he bou
: en investigated by many sc
indudinlg Galileq a!u'ur:lslN\‘e'.-uum::n\l'.r d et
R : Everything on or near the surface of the earth is
5 .:}E”;:" !:rr the mass of earth.
: avilational fore
the boaadonal f e depends oo the mass of
T]}EI' proper sequence should he
at PROS {0 PRSQ () OSRP [d) OSFR 7.

4. 51 H
© Metals are tada ] i
S m MEM;S bemg' replaced by poiymers in
[ lan Institules of science and T
- : echnol
B0 m pr“c:grunmea oh polymer scence. e
or . n;mer ﬂ::e cheaper and easier to
. P“"-‘HSI Y them a viable altemative Lo
- Polymers  aye : |
h hor mﬂeﬁsenftnﬂy long chains  of

spectively. The middle four senten .
e ‘ he four senrences and mark the optian accordingly.

nsists af six sentences. The first and the sixth sen

ces in edeh have been removed and f”mﬂenp

R : Today polymers as stong as metals have
developed. u
S . These have replaced  the  wadiyg,,
chromium-plated metallic bumpers in cars,
The proper sequence should be
(a} ORSP fb) R&OP (¢} ROSP id) CHrps;

5. © Biological evolulion has not fitted man 10 4
specific environment. R
5, : That brillianl sequence of cultural peaks g
most appropriately be termed the ascent of mqy

P : It is by no means a biological evolution, but it j
a cultural one.

@ . His unagination, his reason, his emationy
subtlety and toughness, makes it possible i
hirm not to accept the enviomment but b
change.

R : And that series of inventions by which man
from age by age, has reshaped his eavironmen
is a different kind of evolution.

S : Among the multitude of animals which scamper,
burrow swim around us and he is the only one
who is not lacked into his epvironment

The proper sequence should be

la) OPRS (6] SROFP lc] QRSP id] SORP

$1° Growing up means not only gettng larger, but
also using our sense and our brain to become
mare aware of things arpund us.

5, : In other words, we must develop and use ow
ability to reason, because the destruction or the
preservation of the places im which we lve
depends on us.

P : Not only does he has a memory but he is able

to think and reason.

. In this, man differs from all other animals.

: Before we spray our roadside plants or tum
sewage into our rivers, we should pause to Lk
what the results of our actions are likely to &.

S : This i5 to say, he is able le plan what he B
going t¢ do in the light of his Experience
he does it.

The proper sequence should be

=P

{a) QRSP [0} SPOR  [c) SPRQ [d} GFSR

S, : All the land was covered by he ocean.
S;: The god moulded the first peopie oY

according to his own image and mind. iled ¥
P : The leading god fought the monsier

and chopped its body into bwo halves. " o |

Q : A temible monster prevenled the I
separating the land from the weter o

R : The god made the sky out of the upper part
the hody and omamented it with stars. pot

S : The god created the sarth from the lower
grew plants on it and populated it with anim

tail:h'l'!



n.

s i S —C T O A WL T T s D RS T

roswgnenoe should be

The 1HORY - oo
ol PORG Ul PASE Lt PSR ol OPRS
g paymenl tor pupsilsand exputs s made
through A syster calleel toregn exchange.

5 . Anothe! uonwe b way beowarlh waght pesos.

Fl The value of the money of ope counlty n
pelaion W e mouey b other eountries s
aumpd L.

q - These rtes of caclmoge vary Trom line Lo hime.

g : For wstanee, din wvmencan ol gy oo British
Iwuna sterlner s oworlh corlam amennis in e
money f other connties

5 ; somelumes Ll Alaies dollar 15 worth 12
pesos m blowaen

The proger sequenee Wmlel b
ol PRS0 OPRS KT PRUS () RPOS
S ¢ Jawshutlal Mot W the greatest
plan-uniliusiast
5, : Netu Jumsell becaoe the chawrman of the
Fo sl
p . Under  MNeliws acdvice,  the pre-Independent

copgTess sel up Matiotal Planning Commission o
K13
qQ : But he lurgol Lhat whal conlgd b achieved hy
jarce under the conunumst dictalasship of Russia
was not possible under the demaocratic set up of
Indwa
R : He took the xlea tiom Russia where Five year
plans wansformed a very backward cpuntry into
a lop power of the world
€ . Mg [leq government can call for compulsery
sacrifice ang suffering from the whole people.
The proper sequence should be
fa) PSOR b SRUF
el OPHS [} ROSP

S, What are the causes al uwr chronic fooel shortage ?

§,: This unprecedentad growth can drag us 1o the
donis of starvalion very soun.

P - To find food for these (rowing ew milligns 15 a
desperate task.

Q - every year, we add more than a crore of
persons lo qur populabion.

R - Despite stupendous effarts by ouf government,
the population is growing unabated

S - The chief canse is the population explosion.

The proper sequence should he

{a) QRSP ) SOPR {rl QPR5

8! There is a difference belween Gandhiji's
concept of seculansm and thal of Nehru’s.

S+ Instead of doing any good. such secularism can
do harm.

P : Nehm's idea of secularism was
indifference to all religions and bothering about
none of them.

Q: Aceording to Gandhi]i, all religions are equally
true and each scripture ls worthy of respect.

: Buch sacularism which mesns the rejection of
all religions is contrary and iraditicn.

(d} PSOR

equal *

12

13.

14,

15.

16.

5 . [n Gandhiji's view,

TR LTI e e I N

Ordering of Words/5entences 563

ceculapsm stands for equal
respect for all religions.

The proper seguanlie shoull be

tal SQPR
f¢] QSPR

ful PSOR
id} PRSO

g, A ceiling on urbanl property.

5,
¥ o

L
R o
: Mo press magnate could own prinling presses

Thé proper sequence should be
{a) QSRP

5

Since their value would excerd the ceiling fixed

by the govemment. _ _
No mill-owner could ewn factories or mills or
plants.

And mass crculation papers

Wwould mean that

fo] RPSD (e} SRPQ {d] QPSR

S,: This weather-vane oflen lops a church spire,
ower or high building-

§; - The weather-vane caf, however give Us some
indication of sther.

F : They we anly wind-vanes.

0 : Weither alone can tell us what the weather will
be.

R : They are designed 1o peoint to direction from
which the wind is coming.

S . Just as the barometer only tells us lhe pressure
of air, the wealher-vane teils us the direction of
wind.

The proper sequence should be

ia) PORS fo} PSRO ich PRSO (d) SPOR
S, - Most of the universities in the country aré now

Sﬁ:

B
Q
E

s

facing financtal crisis.
The Government should realise this befcra it is
toc late.

. Cpst benefit yardstick thus should not be

applied in the case of universities.

. The cugenl state of affairs cannot be allowed lo

continue for lang.

. Unjversities cannot be equated with comurercial

enterprises.

. Proper development of universilies and colleges

must be ensured.

The proper sequence should be

[a) QRPS

(b] GSPR [c} GRSP id) QPRS

S, : ! keep on flapping my big ears all day.

M

oo

¢ i Am [ not a smart, intelligent aelephant H

They also fear that § will {lip them all away.

. But children wonder why I flap them 50

: 1 Hap them so to make sure they are safely

thers on either side of my head.

S : But [ know what T am doing.
The proper seguence shoukd be
la] SROP fb] QPSR ict OPRS id} PSRQ
5,: A father having offered to take the baby out In

a perambulator, was tempted by the sunny
moming to sip into a pub for a glass of beer.
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17.

18.

19.

Sy, : She waited for him, anticipating the white face

::::;L :llzlwenng lips which would soon appear
1 the news that the baby had been stolen.

P : Indignant at her husband's bLehaviour, she
decided to teach him a lesson.

Q : She wheeled away the pram.

R : A little later, his wife came by, where to her
horror, she discovered her sleeping baby.

S : Leaving the pram outside, he disappeared
inside the bar

The proper sequence should be

{a} SRPQ (b) ROPS [¢) SPQR [d) POSR

Sit A gentleman who lived alone always had lwo
plates placed on the table at dinner time.

S, ¢ In this way the cat showed her gratitude to her
master.

P : One day just as he sat down lo dine, the cat
rushed o the room,

Q : One plale was for himself and other was for his
catl.

R : She dropped a mouse inlo her own plale and
another into her master plate.

S : He used to give the cat a piece of meat from
his own plate.

The proper sequence should be

fa) GSPR  (b) PSRQ  [c) ORSP (d) RPOS

S, ¢ The study of speech disorders due to brain
injury suggests that patients can think without
having adequate conlrol over their language.

S;: How they manage to do Lhis we do not know?

P : But they succeed in playing games of chess.

(3 . Some patients, for example, fail to find the
names of objects presented to them.

R : They can even use the concepls needed for
chess playing, though they are unable lo
express many of the concepls in ordinary
language.

S : They even find it dilficult lo interpret long
wrillen notices.

The proper sequence should be

(a) PSOR (b) RPSQ
[c) OSPR (d) SRPQ

S, : And then Gandhi came.

S, : Political freedom took new shape and then
acquired a new content.

P : Get off the backs of these peasants ﬂnld
workers, he told us, all you who live by their
exploitation.

Q : He was like a powerful current of fresh air, like
a heam of .ght, like a whirlwind that upset
many things

R : He spoke their language and constantly drew
their attention to their appalling conditions.

S : He didn't descend from the top, he seemed to

emerge {from the masses of India,

The proper sequence should be

(a) QSRP
(¢) RSOP

(b) SROP
(d) PRSQ

20. s, Ants eat worms, centipedes

21.

22.

24.

J ; and s 1]
S, : Some jump, and some give ugt "

repellent substance, & Pungep
P : They are usually much quick

itselr. ATERer than: the g
Q : Nevertheless, these animals do p

game for ants. oL Make Casy
R : Besides, they have an extraording

: n

ways ol escaping. ¥ umber o
5 : They also eat larvae and insect adulis

liles, moths and spring luils. SHch 2y
The proper sequence should be

(a) SOPR {b) SPRQ [c] SPRP i) Srap

5, : The future beckons to us
Sg: There is no resting lor any one of us we

redeem our pledge in full,

P : In fact, we have hard work ahead.
Q : Where do we go and what shall be g

endeavour #

R : We shall also have to fight and end Poverty,

wgnorance antd disease.

S : It will be to bring freedom and opportunity 1o

the common man.

The proper sequence should be

[a) PSRO

S’:

Sr H
P' ¢ The dove saw the ant struggling in water in a

oD

(b} QPSR (c) OSRP {d} SRPQ

Once upon a lime an ant lived on the bank of 3
river.
She was touched.

helpless condition,

: All its efforts to come up [ailed.
: One day it suddenly slipped in to water,
: A dove lived in the tree on the bank nol far

from the spol.

The proper sequence should be

(a) ROSP

{b) QRPS (c) SRPQ {d) PORS

Syt It is regrettable that there is a widespread

L=

WO oW

[F4]

corruption in the country at all levels.

: This is indeed a tragedy of great magnitude.
: So there is hardly anything thal the govemnment

can do about il now. L

: And there are graft and other malpractices 100

The impression that corruplion is an universal
phenomenon persists and the people do not
cooperate in checking this evil.

Recently several offenders were brought to
book, but they were ,not given deterrent
punishment.

The proper sequence should be

(a) QSRP

(d) POSR

{b) SQRP (c) RSQP

S, : Smoke oozed up between the planks.

Sg : Most people bore the shock bravely.
P : Passengers were told lo be ready to qu
Q : The rsing gale fanned the smouldenng

uit the ship.
fire.

R : Everyone now knew there was fire on board-
S : Flames broke out here and there.

The proper sequence should be
(a) SRQP

(d) QSRP

(o) QPSR [c) RSPQ




e

i

i}

L was @ dark moonless night,
| &
; TheY ,,]_u seemed to h‘m Lo h{} i
% mere childish words, #o0r and ordinary
. He tumed over the pages,
" pere and there.
q : He heard them on the flogr,

. The poet took down hi
1].:15 sl?elves. his books of poems from

. some of them conlained his
which he had almosy forgotten,
The proper sequence should be
(3) RPOS (o) RQSP (c) RSPQ

5 A noise started above (heir heads.

5. : Nearly 200 lit:rns were lost on the fateful d

p : But people did not take it seriously, g

Q : That was 0 show everyone that th

something wrong

R : It was a dangerous thing to do.

§ : For, within minutes the ship began to sink.

The proper sequence should be
(a) POSR  (b) PROS (c) QPRS

reading Passages

earliest writings

(d) RPSO

ere  was

(d) QPSR

S; The cooperative system of doing business is a
good way of encouraging ordinary workers to
work hard.

S;: The main object is to maintain the interest of
every member of the sociely and to ensure that
the members participale actively in the projects
of society. .

P : If the society is to be well run, il is necessary to
prevent insincere olfficials being elected to the
commitiee which is responsible for the running
of business.

Q@ : They get this from experienced and professiong’
workers who are not only familiar with the
cooperative system, but also with efficient
method of doing business.

R : To a large extent, many cooperative socielies
need advice and guidance.

S : The capital necessary to start & business venture
is obtained by the worker's contributions.

The proper sequence should be

(a) SQPR (b) POSR
c) SRQP (dl PSRQ

8, : American private lies may seem shnlluw.d

S, : This would not happen in China, he said.

P : Students would walk away with books they had
not paid for.

Q : A Chinese journalist
institution the library.

commented on a curious

R : Their public morality, however impressed
visitors, .
S : Butin general they retumed them.
The proper sequence should be
la} PSQR (b) QPSR {c) RQPS (d} RPSQ
i Abraham Linceln

1 For some time in his youth
was a manager for a shop.

30.

31,
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Sg ¢ Never before had Lincoln had so much time for
reading as had then.
P : Then a chance customer would come.
Q : Young Lincoln's way to keeping shop was

enlirely unlike anyone else's.

R : Lincoln would jump up and attend to his needs
and then revert to his reading.

S : He used to lay full length on the counter of the
shop eagerly reading a book.

The proper sequence should be

fa) SRQP (b) QSPR {c) SQRP (d) QPSR

S; : Manisha went shopping one moming.
Sgt She drove home with an empty basket.
P

: Disappointed she turned around and returned to
the parking lot.

Q : She got out and walked to the nearest shop.

R : She drove her car into the parking lot and
stopped.

S : It was there that she realised that she'd

forgotlen her purse at home.
The proper sequence should be

(a) RSOP (b} ROSP (e} PQRS (d) QPRS
S;: Several sub-cities have been planned around
capital.

S, : Hopefully the housing problem will not be as
acule as present after these sub-cities are built,

P : Dwarka is the first among them.

Q) : They are expected to alleviate the problem of
housing.

R : It is coming up in the south west of capital.

S : It will cater to over one million people when

completed.
The proper sequence should be
(a) OPRS (b} PRSQ (c) PORS (d) QRSP

S, : Your letter was a big relief,

Sy ¢ But don't forget lo bring chocolate for Garima.

P : How did your exams go?

Q : After your result, you must come here for a
week.

R : You had not written for over a month.

S : 1 am sure you will come out with flying colours,

The proper sequence should be

6) PSR (B) QRPS () RPSO  (d) PSP

Si: While crossing a busy road, we should obey the
policeman on duty.

Sy : We should never run while crossing the road.

P : We should always cross the road at the zebra
crossing,

Q : We must look to the signal lights and cross the
road only when the read is clear.

R : If there are no signal lights at the crossing, we
should look to the right, then to left and again
the right before crossing the road.

S : If the road is nol clear we should wait.

The proper sequence should be

{a) PSRO (b) PQRS [c) ROSP (d) ORPS

s
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34.

35.

37.

was not what

S;' As a dramatist Rabindranath
might be called a success.

. Therefore, drama forms the essential part of the

Sg
traditional Indian Culture.

P : His dramas were moulded on the lines of the
traditional Indian village dramas than the
dramas of modern world

Q : His plays were more a calalogue ol ideas than a

vehicle of the expression of action
R : Actually the drama has always been the lile of
Indian people, as it deals with legends of gods

and goddesses.
i stories and novels, he was

S : Although in his sho
able to create living and well dehined
characters, he did not seem to be able to do so
in dramas

The proper sequence should be

(a) SROP (b} QPSR [c) QSPR {d] RSQP

5,: The Hound of Baskervilles was feared by the

people of the area.
unsolved

S¢ : The Hound of RBaskervilles remains an

mystery.

. Some people spoke of seeing 4 huge, shadowy

P
form of a Hound at midmght on the moor.
Q : But they spoke of it in tones of horror.
R : Nobody had actually seen the hound,
reveal any details

S . This shadowy form did not
about the animal,

The proper sequence should be

{a) SPQR (b} SPRO fc) PSRO [d) PORS

Sy: The art of growing old is one which the
passage of time has forced upon my attention.

S : This is nol always easy as one’s own past is
gradually increasing in weight.

p : One of these is undue absorption in the past.

Q : One’s thought must be directed to the future
and to things about which there is something to

be done,
R : Psychologically, there are
guarded against in old age.
< . It does not do to live in memories, in regrets for
days or in sadness about friend

two dangers lo be

the good old
who are dead.
The proper sequence should be
{a) GSRP  [b) RPQS  [c) RPSQ {d) QPRS

5, : We speak today of self-determination in politics.
Sy Cultural  subjection is ordinarily of an
unconscious character and it implies slavery
from the very start.
P : So long as one is conscious of a restraint, it is
Pﬁa‘iblu to resist it or to near it as a necessary
& gl and to keep free in spirit.
: re:;ﬂ_? begins when one ceases to feel that
aint and it depends on if the evil Iis
- _‘;_T:-:PIEd_ as good,
e t:’m Llfweuw. a_ subtler domination
p E"”ﬂ:mﬁﬂ = e sphere of ideas by one culture
: Political subjectio :
th : n primarily means restrain
e outer life of people. ol

33

40.

41.

42,

The proper sequence should be

{a) SPRQ (b} RSOP {c] SPOR [d] RSPR
S, : The city 15 almast a slum and stinks most of 1y,
visitors came  away  with g,

5, ¢ But some
unforgettable sight of young labours scantily el

P : The slush on the road did not deter them

Q : The occasional slips, falls were considered
small price to pay for the Inp "

R : They were excited, fastinated by the sight o

{resh snow on the roads.
§ : Even so, il looked beautiful lo tourists of vanoys

calegornes.
The proper sequence should be
(a] RQPS (b} QPRS5 (¢} RSOP (d) SPOR

S, ¢ Politeness is not 4 quality possessed by only one
nation or race.
S, : In any case, we should nol

habits.
P : One may observe thal a mdn of one nation will
or fold his hands by way of

remove his hat
greetings when he meets someone he knows.
f another country will not to do so.

(3 : A man o0
R : It is a quality to be found among all people and
nations in every comer of the earth,
5 . Obviously, each person [pllows the custom of his
particular country.
The proper sequence should be
{al RPQS5 (b} RPSQ [c) PROS {d) QPRS

5, : Throughout the history man has used energy from

the sun.
. This energy comes from inside
. Today, when we bum wood
currenl we are drawing eneigy.
However we now have a new supply of energy.

mock at others

aloms.
or use electric

Q
R : All our ordinary life depends on sun.
S : This has come from the sun.
The proper sequence should be
(a) SOFR (b) ROPS (c) QSRP (d) PSRO
S,: In India marriages are usually arranged by
rents
S, : She felt she was a modern girl and not subject
for bargaining.
do not like the idea

P : Sometimes boys and girls
of arranged marriages.
Q : Most young people accept the state of affairs.
R : Sujata was like that.
S : They assume their paren
choices,
The proper sequence should be
(a) SPRQ (b} PSRQ (c] QSPR

S, : I had halted on the road.
Sg : | decided to watch him for

home.
P : As soon as | saw the elephant

not shoot him.
Q:It is a serious matter 10 shoo

elephant.
R : I knew that his 'must’ was already passi
S : The elephant was standing 8 yards from

road.

ts can make good
{d) ROFS

a while and then g0
I knew I should
t a working

off.
g thie




Y

8

i

s e AT L

oquence should be
oper 5€ quence s _
EPGR (b) POSR (¢} ROPS [d] SRPO

A man can be physically contined within

“-aIIS.
No lyranny can inlmidate a lovey
o 1

The
al

e

stone

: of liberty.
.  gul hus mind and spint will siil] be free,
P " Thus his freedom of action may be restrictad
a . His hopes and aspiration st remain with him
R . Hence, he will  be free Spintually  if ot
L hysically.
he proper sequence should be
) PORS (0 SRQP () QPR ([d) QPSR

The dictionary is the best (niend qf your task,

spon you will realize that this s

task.

p : Thal may nol be possible dlways,

q: It is wise to look it up immediately.

g : Then it must be firmly written on
and traced at the fust opportunity.

g : Never allow a strange :
unchallenged.

The proper sequence should be

13 PORS (b} SPQR (e} QRPS [d) SQPR

g - Far away in & little street, there is a poor house.

5, - His mother has nothing to give but water, so he
Is CTyINY.

P Her face 1s thin and wom and her hands are

coarse, pricked by a needle, for she is a seam
siTess.

Q: One of the windows is open and through it |
Can See a Poor woman.
R : He has a fever and asking for oranges,
§ : In a comer of a bed in the room her little boy is
lying all.
The proper sequence should be
fal SROP fb) POSR {c) QPSR id) RSPQ

5:* Jawaharlal Nehru was born in Allahabad on 14
November 1889.

He died on 27 May 1964,
Nehru met Mahatma Gandhi in February 1920

In 1905 he was sent to London to study at a
school called 'Haroow'.

3

g an  exciting

the memory

word o pass

8
o
Q-

R:He became the first Prime Minister of 50,
Independent India on 15 August 1947,
5 : He married Kamla Kaul in 1915,

Proper sequence should be
bl ORPS (o) GSPR (o) RPOS (d] SQRP

Si: An elderly lady suddenly became blind.

o The lady said that she had not been properly
Cured because she could not see all his
b furnityre,
' The doctor called daily and every time he took
Q AWay some of her furniture he liked.

" Allast she was cured and the doctor demanded
his leg,

48.

49
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R : She agreed to pay fee to the doctor who would
cure her

S . On beng refused, the doctor wanted to know
the reason

The proper sequence should be

fa PORS (b) RPOS
[c] RSPO [d) ROPS
Si¢ The path of Venus lies inside the path of the

Earth _
S, : When al its bnghtest, it 1s easily seen with the
naked eye in broad dayhght. .
P . When at its farthest from the Earth, Venus is
160 million away

- With such a wide range between its greatest
and least distances it is natural that at
sometimes Venus appears much brighter than at
others.

R . No other body ever comes so near the Earth,
with the exception of the Moon and occasional
comet or asteroid.

5 : When Venus is at ils nearest to the earth it is
only 26 million miles away.

The proper sequence should be

{a} SRPQ (b) SQRP
lc] PSOR (d] QPRS
51 In the middle of one side of the square sits the
Chairman of the committee, the most important
person in the room.
Sg ¢ From the moment its members meet, it begins to
have a sort nebulous life of its own.
P : For a committee is not just a mere collection of
individuals.
@ : On him rests much of the responsibility for the
success or failure of the committee.
R : While this is happening we have an opportunity
lo get the 'feel' of this committee,
S .

: As the meeting opens, he runs briskly through
a number of formalities.

The proper sequence should be
(a) RSOP

(b) PORS
{c) SQPR (d) OSRP
Si% Religion is not a matter of mere dogmatic
conformity.
Sg: A man of that character is fre
ity 15 free from fear, free

P:It is not merely going through i
prescribed to us, i LT, Hon

Q : It is not a question of ceremonial pity,

R : Unless that kind of transformation occurs, you
are not an authentically religious man.

S : It is the remarkin

of yo
transformation of g your own self, the

Your nature.
Tr;a Proper sequence should be
al SPRQO b
(e} PSRQ 0 S

(d) SPQR



Exercise I

Previous Years Exam Questions

tons (0.Nos. 1 to 125) in the following items, eoch passage consists of six sentences. The first ond the sivey
Direct [#] d 5. The middle four sentences in each have been removed and fumbled up. Thesa gre ahe uﬂ;

are given in the begining os 5, on
as B (3, R and 5. You ore required te find out the proper sequence of the four sentences.

P . Chidren's eating habits leave them prone to
toath decay.

The correch sagquence should be

CDS 2011-1
1. S, : 1 will not be able to see you tomorrow. fal POSR [b) OPRS fc} ASPQ (di ORPs
S, : Al any raie [l see you later in the week. 5, : The live-year plans are meant for the nabieny
P : There is only a simple laboratory lest lo be eronomic development.
done. _ S : The most important is, cerlainly, failure gp the
0 : Once 1 know what the diagnosis 15, [ can family planning front.
contact 1‘.'I1¢71 chtD{. F : What are the reasons for it?
R : However, if you like, you can phone me. Q : One way of measunng 4 nation’s developmen
5 b WE' will 'IhE!n fDﬂﬁw ]."5 instruchons. is h}r ﬁ.-n,ding ot how much Frﬂgres‘s‘ Ihme hﬁ,
The correct sequence should be been in the fight against poverty.
[#] SPRO ib] APQS E : The reasons are many.
{t) 5RA [d} ROSP 5 : In Indiz, every five-year plan ends with mop
2. 5, : James Watt used the power of steam to drive people coming under the poverty line.
machines The correct sequence should be
5, - The jet engine is relatively more recent. la] RPOS (b} QSPR (c} PRSO (d) SGRP
P : Wilh petrol engines people were able to buld S,: Mans growth from barbarsm to dvilization is
motor cars and aeroplanes.
. . supposed {0 ba the theme of history
Qo Tm'!:;r:;t;:lmny years later, the petrol engine was S¢: In many ways, therefore, man has not made
, y. . ; t progress.
R : These provided quicker means of bravelling. very yrea ;
& : His inventon was used later by other clever B 3;’::‘9 countries attack and oppress wedker
men to give us the railway engine. Q) . .
The carrect sequence chould be 3 Bu;]i:aés difficult to believe this jdeal has been
SOPR PSRQ d) OSRP TEALNES
2 (b} PORS e ) R : There is ample evidence of barbansm eved
3. 5, : Stalin senl Genera) Zhukov to assume command teday.
i Lenirgrad. S : Indivnduals too exploit their fellows.
5; - The battle for Leningrad was the [liercest ever The comrect sequence should be
fought. (a) ORPS (b} ROSP o) ORSP (d) APSQ
F . True the city was prepared for street fighling. ) _ o _
() : Al that time nro cne knew whether the cty S, : The lion used to be very widely distributed i
cowld he saved. Alfrica and Asia.
R : N one knew the answer. 55 : Mo hunting is pervnitted in such reservad areas.
S : But would the cily’s defences hold? P : There are special forest zomes set aside fof
The correct sequence showld be wildlife in varlous countries.
fa) RSGP {b] OSPR 0} : !ndiscriminate killing by hunters has peen the
el PSR fd] ROPS cause of this drastic fall in their numbers.
. R : Today they are & relatvely rare specles.
4 & Eaf:tena in the mouth ¢an cause bad odour and S . If m: SPELES survives at };‘u_ it wili be only I
painful locth decay. national parks.
Bg ! Tonihpas%a advertisements are Uuthful when The correct sequence should be
they advise us 10 brush regularly. () OSPR (o) RSPQ  [dJ SRPG (d) ROSP

S, : Though the Finance Minister claims ihat pnnes
have become stable, facts do not suppar! hos

R'l : They grow in food particles left between teeth.
: They oflen eat sweets and other items between stand. _ ”
meals. S¢ : This proves that the government is not propet

S : Therelore, regular brushin
* alter every
ealen at home is essential g ¢ meal

infortned.
P : What is worse, in some places it is not
even at the exorbitant prce.

availabi®
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. Enstein was very sunple m his ways of lile and

* ipdifterent to s astounding fame

. . 5o they went back to the Queen and informed

5 her that he had nol come by the lrain, -

p . They could never tmagine that
would be Emstemn himsel

q - Once the queen of Belgium invited him lo
Brussels

g - The olhcwals also expected 10 spe somebody
who wouldd appear to be rich and danstocratic
pefore them

¢  When he got down [rom the train al Brussels,
he could not think thal there wepe actually

many gorgecusly dressed olficials to receive him
at the station

The commect sequence should be
@) PRSQ (b} ROPS (] OSRP

pecl sequence should he

|b) SROP lc} PSRO fdl RsOP

this shabby man

(it} SPRQ

§ Jagdish was lired aller the long walk through the
thick Jungle.

g, : Here, to his salislaction, he found that there
were hardly any mosquitoes,

P . As mght lell he came to a swampy place near a
lake, where he decided \o camp.

1 - At last, in despair, he sprang into the branches
of a nearby ree and climbed to the lop.

R - But the place was so full of mosquitoes that he
found it impossible to sleep.

5 :He spread a Dblanket on
stretched himsell out on it

The correct sequence should be

I} PSRO b} PRSQ [c] PSOR (d} PORS

§ : What kind of India are we waorking for and what
kind of world?

5, : Some small part of that dream has come true,
but not in the manner | had imagined, and so
much stll remains.

P : Surely not, if there has been any truth in us
and in our professions.

Q : Here in this city of Allahabad my boyhood and
youth were spent in dreaming dreams and
seeing visions of India’s luture.

R Was there any real substance in those dreams
Of were they merely the fancies of a levered
brain?

“Are  halred and violence and lear and
communalism and namow provincialism o
Em““l‘] our fulure?
torrect sequence should be
) Pags () QRSP
16 SPaR (d) SORP

the ground and

12

13.

14.

15.

N e gy ae——— T R
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, - Pasteur began his (natlul scentific invesligalions

when he was Prolessor of Chemistry al ‘F-:Imsc-lmn_ft

S, : The pasteunzation process whi h he prescribet
for wine and beer 15 used nuow al salceguard
milk too. .

P : He alsp found how ¢germs causing changes il
matenals could be controlled by heal

Q : He made a thorough study of the wine industry
n France »

R : He thus saved the wine industry [rom rumn Dy
this work

S : After carelul and extensive investigation he
produced the germ theory ol fermentabon
The correcl sequence should be N
fal PORS (b} QPSR (c) SOPR {d) QOSPF

5 : In democralic countnes men are equal before

law. and have a voice in deciding how and by
whom they shall be governed.

S, : And they live like thus not for lun, but because
they are too poor lo altord another room

P : While some lew people live m luxury, many
have not even enough to drink and weart.

(1 : But with respect to the sharing of money-which
means lhe sharing of food and ciothing, and
houses and books and so on the system is stll
very unfair.

R : There are many lamilies of hive or six persons
who live in a single room; they sleep and dress
and wash and eat their meals; in s same
room they are bom; and n this same they die

S : Even in the finest ol world's cities thousands of
people live in dreadiul surroundings.

The correcl sequence should be

[al QRSP (b) SRPO [¢) QPSR [d) PORS

5y : Mental disability, whether mental retardation or

any other development disability, 15 not the same
as mental tness,

S, ¢ And the earlier the betler.

P . A person with mental disability can certainly be
helped to improve, but mainly in childhood.

Q : But mental disability has no cure.

R : Mental illness has an identifiable cause and
may be cured,

o2

Mot the best doclors nor all the medicines 1 the
world can cure mental disability.
The correct sequence should be

{a) PSOR {b) QPRS le) ROSP [df) SRPQ

§; : A devastating earthquake had hil Mexico city.

3, : The condiion of 1000 others was

reported
unsafe. S

P : Fifty more were later judged dangerously close
to falling.

Q The quake’s force was measwed al 7.8 on the
Richter scale.

R :In I:I:bu.r chaotic minutes, an estimated 250
buildings collapsed in downtown Mexico city.

S It was the world's most severe fuake since the
quake in Chile last March.
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The correcl sequence should '“f
{a) SRPO {b) OSRP fc) POSR

has done wonders.

[d} RPOS

. Undoubledly, soience

° ;I . Thus, Science, which was oOnee r.nnsulu-l;t'fliﬂ
ca destructive  power coly O CWah g . rim
recognized as one also 1N |i5 apparently

i i 6 tvities dunng peace.

p -f.’-illrtlbt;luc::u:'; such an answer, our attention
" must not be taken up entirely by the danger
from nuclear weapons and chemical ‘-""ﬂffa':'*-

( : The honest answer has Lo be, “not always”.

R : But has it stopped with wonders which are
beneficial to mankind?

S . There is far greater real danger from Lhe
damage to the environment ansing from the
so-called peacelul uses ol science

The correct sequence should he

{al ROPS (b) SPOR {c] SRPQ {d] PORS
CDS 2010-II
17. § : When he joined the college, he was an
adolescent and immature.

S, : But his sagacity helped him gel a good job.

P : He learnl a lot from his experiences at the
college,

Q : He had to get suitably employed.

R ; Four years of sludy in the college changed him
completely,

S : When he left 1 he was ready to face the
problems of life.

The correct sequence should be

(a) PORS {b) SRQP fcl RPSQ [d] QSRP
18. 5,: There 1s sull another important characteristic of
living things

S : And abrupt changes occur too, which are called
mutations,

P : One generalion is nol a perfect copy of the
preceding generation,

Q : Plants and ammals are nol exactly like their
parents,

R : That attribute is the capacity lo evolve, )

S : There is a continual realignment of inheriled
charactenstics,

The correct sequence should be

(a) PSOR [b) ROPS
(c) QSRP (d) RSPO
1'9. S-J 5 Yﬂu.'r resgources, li_kﬁ muney are ﬁ.lTlitEd.

S, : For that matter the need for a leader arises only

in relation to other people.
P : You must invest them wisely.
Q : Everything cannot be directly attended to by
T i

: ner or later you

rttacdl ].;merr;llmuld leamn to delegate
S : You have 1o depend on others.
The eorrect sequence should be

[3) SrRPa [b) QRsp (e} PROS (d) SORP .

20

21

22

23.

24.

S 0 In ancienl Incha the oty ol Ujjag il
o
lamous. Wiy,

S, : So one can see what a great love all )
for India must leel o s ancient ntl,-” I ¢

P - Here lived al one lime the poe Kaliclas

(3 : He was a lamous learmncd astronomg,

R : And here also came and worked Rajg g, 8
ol Jaipur. Sirgy,

g . It was always renowned as a seal o fosa

The correct sequence should be

(a) PSR (b) SPRO [c) OSRP (d) Skeg

§ : One al the odd-lookmg birds of the oeegy 5 the

L1

iRy

penguin
S, - With the aid of tlippers they can dive i, i

water _
P : Penguuns cannot [y
€ : It 15 found in the cold regions of the Antareis,
R

cucle.
. Their wings have been changed mnlo sWimming
flippers.
5 : They use them like oars.

The correct sequence should be
[a] PORS (b} OPRS [c) RSPO

§, : Clothes should fit well.

5, : They absorb sweat {rom the body and pick up
dust from the surroundings,

P : Clothing thal is too siack chafes the skin ang i

uncomfortable,

[d) QRSP

Q3 : Tight garments can constrict the organs of the
hody, especially those of the abdomen.

R : Clothes should be kepl clean.

S : If they are too light they can constrict the bleod

vessels in the skin.
The correct sequence should be
(a) POSR () QRPS [¢) SROP (d) SOPR

5 ¢ Get hold of the catalogues of the colleges in the
Uniled States.
: They all aim at the first rale.
P : 1 think there is a ecommon fealure and that
every course given has a similar aim.
Q : Is there any common feature in these courses?
R : You will find courses in innumerable subjecls
S : Is there any aim which all of them have?
The correct sequence should be
(a) ROSP (b} PORS
(c) RQPS (d) PRSO

S;: If we dump sewage into a stream, on a small

scale, the stream dissolves it and purifies il.

Se + For this overwhelming kind of pollution we
need to coin a new term which we call
super-pollution,

P : It can no longer deal even with the smell
quantity of sewage which it once accepted
without difficulty.

: Ten miles downstream the water 15 pure agai-

: The system has broken down.

o




v

[

gt il 1,,-f-_{lum}a large quantities
g ¢ o bY killing the punfying
:Iu" stream has lost its power

t sequence should be

b) RSOP ¢} PROS (d) PQRS

| ghe was born into a poor family of labourers and

5 ¢ died because poverly could not let her ljve

. while  the  world  wgs mlubre;ling

e mational Wemen's Day, Rita's mother, Mrs
Veend :'-pe_ﬂt the day trying to get her t.l:u.ighler

astice, which eluded her in life.

_gpe died nol because she was ill, but because

" che had been allegedly beaten by her husband

and in-laws for not bringing in sufficient dowry

o the young age of twenty, Rita Lreathed he
last at JP Hospital on February 20,

o fronically, however, no one paid heed 1o Rita's
woes when she sed to cry for help.

s : The police have not taken any action either till
date.

The correct sequence should be

() QPRS (bl SRPQ [c) PRSQ {d) RPQS

5. We were SO evenly malched that for a time the
end was difficult lo tell,

. Then, his comrade’s Knife, thrown at me, struck
nun on the back and piercing it, quite finished
him.

. Already | was counling him a dead man and
myself victorigus.

Q: | had only to wear him out to have him at my

mercy

of sewage, we
bacteria ang then
1o purify,

her

=

R : Presently, however, there came a change.

§ : Mv oppanent’s wild living made him incapable
of coping with a prolonged bout and his
strength seemed to starl ebbing away.

The correct sequence should be

[a) SROP (b) QRSP (c) ROSP (d) RSQP

§ : Willam Cowper was born in 1731 at the rectory

of Berkhamstead.

5, : He left Westminster in 1748.

P : From both sides (mother and father) he was
well-connected.

Q : He was the son of a country rector.

R : Cowper was sent to a boarding house at the
nearby village where the bullying brought on a
nervous inflammation of the eyes.

S i He then moved to Westminster School, where
he was reasonably happy.

The correct sequence should be

W PORS (o) PROS () RSQP  [d) QPRS

S+ John Young, the astronaut, piloted the 75-ton

space-shuttle, Columbia,
*And it moved smoothly to a stop as the crew
fushed to greet it.
* The Columbia, however, landed safely at the
. “Uwards Air Force base in the Mojave Id'E.‘S'EITL
'8 Space-shuttle circled the Earth 36 times.

T A R S e e T R R R T e ol e L Y,

29.

3.

3z,

Ordering of Words/Sentences 5711

R : It was dangerous because a re-usable craft was
being used now,

S : This flight was fraught with dangers.

The correct sequence should be

(a) POSR (b} SQRP (¢} PRSQ {d) QSRP

S, : Rutherford was the son of a Scot emigrant to
New Zealand.

S, : Lile was hard, but it was adventurous.

P : They had 12 children, of whom Rutherford was
the [ourth.

Q : His father established the first flax mill in South
Island. }

R :He was brought up in a real {ronter
atmosphere and it entered into the nature of the
man.

S : His mother was the first woman school teacher
in New Zealand.
The correct sequence should be

{a) PROS  (b) QSRP  (c) QRSP (d) QSPR

S, : Isaac possessed a wounderful faculty of acquiring
knowledge by the simplest means.

S, : Thus, even in his boyish sports, he was
continually searching out the secrets of
philosophy.

P : Yet nothing could be more simple. :

Q : You will never guess how the boy could compe

that unseen wonder, the wind to tell him the
measure of its strength.

R : For instance, what metheds do you suppose he
ook to [ind oul the strength of the wind?

5 : He jumped against the wind and by the length
of the jump he could calculate the force of the

wind.
The correct sequence should be
(a] PORS (b) QRSP (c) ROPS (d) PSQR

5§, : Life is a giflt of God to man.

5, + Oh Lord! What fools we mortals are?

P : What an invaluable gift!

Q : Every morning he fills 24 hours in wallets of
each of us and never asks questions,

R : The other is time.

5 : Irrespective of these gifts, we grumble.

The correct sequence should be

{a) PORS (b) PROS (c) QRPS (d) RSPQ

8, : The common man has a vole in Parliament.

8; : For that, his sole resource is his 'native wit and
will, )

P : If he likes to make use of the machinery of a

democracy, he can have guestions asked in the
house.

Q : Bul there is no machinery by which he can
control the organs which mould opinion.

R :In the last resort he can destroy one
government and make another.

S : He has a parliamentary representative whom he

can badger and heckle.
The correct sequence should be

(a) QPSR (b) SOPR {c) PROS (d) SPRQ
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CDS 2010-1
33 8, Umity in diversity 15 a umgque feature of India
S5, Have you read this book? If not, you should do
S0 TOW.
P . They should, therefore, fust try to know the
mind and spirit of India-the Indian-ethos, so lo
Say.
3 : Nehru has referred to this umty very feelingly
in "The Discovery ol India’ o
R : Those who do nol see this underlying unity in
apparent diversity fail to understand this
country properly
5  Then, they will discemn strands ol common
hertage runming all through the differences ol
language, dress, [ood, method or worship etc
The correct sequence should be
(a) QRSP Il PSRQ [c] SQPR (d) RPSQ
34 5 - There was a legend among our people that the
island had once been covered with tall trees.
8. Tumar angnly wenl down, down to another
world; so people die today because he did,
P : This was a long time ago, at the beginning of
the world when Tumal and Mukat ruled.
G Tumar wished people to die.
R : The two gods quarrelled about many things.
5 : Mukat did not
The comrecl sequence should he
[al PROS It} PSRO [c] SPRO (d} SQPR
35 5 To a loreign learner, English pronunciation
presents the greatest difficulty.
S, - But a knowledge of Phonetics will help a great
deal in learning correct English pronunciation.
P Words are spell in one way and pronounced in
another
€2 - For instance 'u’ has dilferenl pronunciations in
‘but’, ‘put’, ‘build’ and ‘bury’,
R : The " English language s notoriously
un-phonetic
S« The same letters give different sounds in
dilferent words
The correct sequence should be
lal PRSQ (b) OSPR {c) SPOR (d) RPSQ
IS . There was somelhing about the smile of Mr

Acton, when he came over to Sharma’s table
- which betokened disaster. '
S ¢ Specially, since Mr Acton was not known to
i-.‘malv oo much, being a morose, old Sahib,
5 ‘Hmk—wnrkmg dand conscientious,
L. E;qurll I'l;lﬂl Mr Acton should come aver to his
i de » tawn upon him and say what he
b .W was, ol course, most Hattering.
mn.]l..r? rarely did the head of the firm
fescend 1o move down the cormdor, where

the [ng i 1
eoric: 4 stalt of Henry King and Company,

Bt
Ul that smile gp Mr Acton’s lace!

T T T LT

37

38

S ¢ Bul as the Salub had only said, “My Sharma
have brought something for you specially J'r‘I
London, you must come into my offiee Om
Monday and lake il..". Sharma {'Dulﬁ nun
surmuse  the real meaning of  the Genpr::]l
hanger's remark -

The correct sequence should be

(a) SPOR () PROS {c] SQRP {d) Qrsp

S - Arun suddenly found himself in the streets

S, ¢ When he applied for the refund of his security
there was hardly anyone at the other epg tn
receive his application.

P : There was a little money in the bank and he
had some stock on hand.

Q : The prces were going down, and he could
hardly realize a few hundred rupees.

R : At first he could hardly understand the fy
significance of Lhis collapse,

S ¢ Bul the stock moved oul slowly.

The correcl sequence should be

(a} PSOR [b) SORP fc} RPSQ (d) POSR

8, : Science has given up powers fit for the gods,

S, : And we should remember that they are very
slern masters.

P : For example, we do not know how to manage
our machines,

Q : Yet we use them like small children.

R : Bul in praclice, they have become mans
masters,

S : Marchines were made 1o be man's servanis.

The correct sequence should be
la) ROPS  (b] PORS  (c) QPSR (d) QPRS

§; : It follows thal we should enable all individuals to

live a full, free, rich life,
§, : This does nol mean the regimentation of the
individual. )

P : We talk often of . socialistic pattern of society.
Q : We must help to bring up the buried treasure in
each individual without breaking any of it
R : That is why we have universal education as a

target in our Constitution,
S : For this, certain minimum cultural and economic
conditions must be provided.
The correct sequence should be
{a) QSRP (b} PRSO
(c] ROPS (d) SORP

S : The advancement of science is not a secret of

mysterious process,

S, « What is he to think but to marvel at the skill of
science, and to fear its power?

P : No one tells the layman about the years of
experiment and failure.

Q ¢ If it sometimes seems so, that is just because
the day-to-day work of science 5 50
unspectacular,



{l

. How is he to know whal has not he
£ o Quess the ]ﬂ_bm-ll' of what hass

-tfou kear nothing from 1he
§ - ears, and then, suddenly,

:hE neadlines; penicillin o

2N done, oy

research worker for
there is tha resut in
r thE jEt Eng—j_ne or

orrect sequence should he
ﬂ;ji @R ) PQRS [ gpsp

[d) sapR
5 { am the manager of a trave] A9ency in the aty,
] spe;.iis those  twenty-five minutes doing
QOEFWrS,

.1 usually catch the B o
: journey o the office.

g : 1 live fifteen kilomeires oy of the city whare |
have & small roam.

R:Igamworkantheeletm
§

clock traig for my

€ lrain &veryd ay.

: . y-five minutes 1 get
to the aty.

The correct sequeEnce should he
fa) PRSQ (8} RGPS [} OSPR

(@} SPRQ

bombs  fal) on

the atom and s
TEmote  from, everyday

§: Undl the first atomic energy
Hiroshima and Magasakj,
behavionr had been
affairs.

5 50 the idea grew up that
years at atomuc research ha
weapen of destruction mor

the product of long
d led only to a fregh
& powerlil than any

known before.

F : Thers Was something qQueer and
mncomprehensible about them,

- And  secondly, that somelhing new ang

devastating had been added to the list of man’
victories over nature.
R :But it, in the first place, made us realize that
e atom and its Ways were no
something apart from everyday life.
The atomic bembing of Japan did not reselve
Lhat incomprehensibility.
The comect sequence should ba

lenger
5:

b PSRE (o) POSR [¢) RSP (d) SOPR
S: lagdish  Chandra Bose was bom on
W Novembar, 1853  at Parikhal, now io
Bangladesh
%: He himself founded some technical and
" Industrial schools.

‘B he alsy  knew that without techeical
*ducation India could ool become a great
fatign,
* His father Babu Bhagwandas was a remarkable
nsp

5 H_r:qhﬂd 2 high regard for India’s ancient culture.

“h he was an imporant government
*fbeial, yet he dig not give up his independence
thought,
orect sequence should be
ﬁ}m (¢} RSQP
{d) RPSO

a4

4h.

45.

47.
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50 : A gentleman trying to get a tly out of the milk or

4 picce of cork out of his glass of wine eolten
imagines himself te be irdtaled.

5 But I pointed oul to him that this sense cln’[
wrong  was really subjeclive andd relative; it
tested cntirely upon the assumption that the
drawer could, should and would come out
easily.

: Again, | have known some people of wvery
moedem views driven by their distress to the use
of theologica! terms to which they attached no
doctrinal significance, merely hecause a drawe_r
was jammed tight and they could not pull it
aul.

2 : Gveryday his drawer was jarnmed, and everyday
In censequence it was something else that
thymes ta it

R ¢ A friend of mine was particutarly afilicted in
this way,

S . Let him think for a moment of the patience of
anglers sitting by dark pools, and let his sou! be
immediately irradiated with gratification and

repose,
The comect sequence should be
{a] 5PRQ (b} PSRO Ic) QPRS id} SPOR

3y Even in his earliest days, man had government.

% : As the pumber of men multiplied, hunting
bands grew larger  divided and formed
ndependent groups.

: When he grew old and dull, another leader toolk
his place.

: A% he stepped outside, he joined with other
men lo form a hunting tribe thal learned to
wark together.

R : Is simplest [omm was the family,. where man

had authority over his wife and children.

5 : Probably the hunter with the right eombination

of strength and clevermess became the leader of

B

Q

the trihe,
The comect sequence should Le
(a] GRPS fo] ROSE e} SRPQ id] RPOS
5 :

The il found in natyral state is called crude oil,

Sg : Last of all, the lubricating ails of various qgrades
are producad,

:Itisusedasaiue]in

E
2 : It is treated in relineries, e most common form
of treatment is heating.

R : Gas thal comes oif the oil later
into paraffin.

S : When crude oi] 15 heated, the first vapours Lo
nse are conled and Become the finest Detrol.

The comrect sequente should be

(a) CSPR (b) SPOR i) SORP (d) QSRP

S : As a first step we haye made the tibals celebrate
the u Kula {esriva) on the same day.

heater; ang lamps,

i5 condensed
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49.

Village-wise environmental status reports were

prepared o help people in assessmg  the
remaining natural resources such as drnking

walter, extent of grazing land, and pumber o

fruit-beanng trees, bird, animals elc
P : For the firsl time in the history of this region,
during this festival, an Adivasa darbar was

conducted.
Q : Trbes from Mardhya

St

Pradesh and (xelisha were
this darhar

alse invited to parhicipate in
. We could achieve pmotional integnty amongst
tribals which resulted in this Success
S : For centuries they were celebrating 1t on
different days and in different ways
The correct sequence should be
{a) SRPQ  (b) PRSQ  [c) OSPR {d] RSQP
§, : Happiness, alter all, is an inner state of mind
not wealth but

is that it 15

Sq - My poinl
s thought and action which

co-ordination of one
removes inner conflicls.
P : Some of the most miserable persons I have
come across in my lfe are rich.
Q - It is little dependent on pulside environment,
R : Happiness has very little to do, for inslance,
with whether you are rich or nol rich,
S . It is true that poverty makes one nuserable in 4
very acute way.
The correct sequence should be,
{a) SPOR {b) QPSR
[c) RSPQ {d) QRSP

S, : It was in 264 BC that the great struggle between
Rome and Carthage, the Pumic Wars began.
S, : But the Romans, with extraordinary energy, set
themselves to outbuild the Carthagians,
. It gradually developed into a struggle for the

possession of Sicily.
. The advantage of the sea was al first with the

Carthagians,
. The First Punic War began in that year aboul
the pirates of Messina.

§ : They had great fighting ships of whal was
hitherto an unheard-of size.

The correct sequence should be

(a) ROSP () RPOS

[e] PRSOQ {d) QSPR

§, : Over-gating is one of the most wasteful practices

among miwse who can afford it.
8 EE evening meal should be light and should
hedmm three or four hours before going to
E : i i!;wlnrgel}* wasted.
: avy meal at ni
) faihion: At mﬂ:}ﬂ night before retiring is the
:";t'“a:s ﬁ?emng, this food is converted into
. %ﬂhEHMlY. and thus makes a person fal and
H re i
mud_ﬂ to five hours are needed to digest the

= p =

The correcl sequence should he

R : We should not only be sp

The correct sequence should be
{a) PQSR

¢ We concentra

(s) PSR (b} QPSR (c) OSRP () Shop
61, §: 1 passed all the other courses that [ took 4
umversity, oy

g, - This used o enrage my instructar

p . I never once saw a cell through a mic

(3 - This was because all botany students Laq
spend soveral hours a week looking thrg o
microscopes at plant cells, ugh

. But 1 could never pass botany.
5 : I could never see through a microscope.
The comect sequence should be
{a] ROSP (b) QPSR {c) RSPO (d) POSR
52 8, : It is very warm and sticky loday.

St A good ramn would cool things off a little.

P . That is a good idea.

Q : | wonder what the weather is going to be lke
(OmMOITow,

R : Let's listen lo the weather report [or lomomew
on the radio.

§ : The paper here says its going to be fair and
sunny.

The correct sequence should be

{a) QSRP {b) ROSP [c) QRPS {d] RSPQ
CDS 2009-11
53. S, : Long long ago there lived a king who was crude
and very much like a savage.

S, : Or at least he tried to.

P . He was a man of great fancies and even grealer
enthusiasm.

&) : Because he had so much authority as a king, he
was able to lorce some of these fancies into
reality. :

R : He had none of the grace and polish of his
neighbours. ;

S . He had learned some manners from 'his Latin
neighbours, but mostly he was barbaric, loud
and gruff,

The correct sequence should be

fa) RSPQ  [b) SOPR  (c) RFOS (d) PROS
54. S, : Our age is the age of the specialist

S, : We have lo reckon with the spirit of science.
understand its limitations and an outlook which
is consistent with its findings.

P : Modem specialization had led 0 the
fragmentation of knowledge.

@3 : Each one knows more and more about less and

less.
ecialists but also hav®

a sense of the meaning of Lfe and of social,

responsibility.
te on some narrow field and forge!

the larger context in which we can $e€
meaning of our own specialization.
(d) OSPR

(b} QPRS {c) SPOR




o

pe went to his flieads, but none of them was

n oady 1o help nim now.

. . New Ihe _‘fmtnnman undorstgod 1 .
3¢’ oade d mistake. hat he had
p - He had Lo lonk afler the fanner's pigs.

O - Apd when he was hungry he aie the food

which was given o the pigs.
g o He went away fram the city and wandered
round the counliyside lookwng for fgod to eal

. the end he weni lo the houy
s :n : ouse of 4 farme
anil became his servant, “

The correct Sequence should be
(st SRQ (B RSP o sapr (d] OFSR

g, ¢ plat.  when Came,  must have heen

swrounded Dy great animals and he must have
jved in fear of them.

5, : Gradually. however, man raised himself apd
pecame more and more powerful t) he bocame
strongger than any animal,

lirst

p . He makes the animals do what he likes.

Q + But in those days he was not the master but a
poer hunted crealure himself trying to keep
away trom the greal animals.

% : Today man s the master of the world.

g - Same he tames. same he eals and sama he
shoots lor pleasure.

The correet sequence should be
3 ROFS [b] RSP £} RPSC (dl POSR

§ . Convention has a necessary part to play in the
Lfe of evaryone,

5, : Thewr purpose. however, 1s always the same.

P Il is necessary and usaful for this reason.

Q: Of course, there is nothing absaiute about
convenllnns,

k . They vary [rom counlry to country [rom age to
age.

S :In all social alfairs it prescribes mure or less
generally accepted rules of behaviour.
The rorrect sefuence should be
fa) SORP (] POSA (€] RPSQ

$,: Mo one can serously pretend to

unafiected by advertisement.

5, : Though they seem so varied all these
advertisemenis have one ihing in common they
make sirong appeals to our emations.

P : Even in lhe sanctity of our living redms
advertisers pounce upon their helpless victims
as they lune in to their favourite radio or
lelevison programmes.

G s lmp%sﬂs?ble to turn a blind eye to the
solicitous gvarlures to buy lhis or that article
that fill our streets, newspapers and magazines.

B . Most often they bank upon our sense of fear for

nel deing or possessing this or that for our
youth, beauty, health and security.

* Mo maller how hard we Tesist, clever little funes

and catch-pheases seep into ouf subconsclous
Tund and stay there.

{d) SPOR

rernain

o9,

B61.

B2.
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The correct sequence should be
lal POSA & GRPS [c] RPSO

5, : A greal part of Arabia 15 deseri,

: Surh place is called an nasis.

- The sand is so het that you cannol wallke over it

with your bare feel 1n the day tme.

3 : These springs are few and far apart but
wharever there is one, yreen girass Very soen
covers the ground all around it

R : Here there is nothing but sand and rock.

S . Here and there in the desert are springs of
water that come from deep down under the

{d] SQFR

3,
3

ground.
The carrect sequence should be
{al F5RQ {b] RSQF fel APSQ (d] FOSR
§,: Many things about Kopark seem shrouded in

mystery.

5, : King Narasimha probably had it built as much
as a memonial to humself as he did in honour of
the Sun-God.

P : It is, of course, a religious shrine.

Q : But here there alsn seems to be a great
emphasis cn purely human grandeur.

R : Why was It built?

S . Long before the temple was built, sometime in
the 13th century, Keonark was one of the five
heliesl places in Cdisha,

The correct sequence should be

[a] RPOS (bl RPSD ic] SRFO fd) SPOR

5, : Most of you probably did not see Gandhiji at

close quarters.

8, ' The result was that the poor man had to try to
be good.

. Ooe of these gualities was that he managed to
draw out the good in another persan.

: But he somehow spotted the good and laid
emphasis on that good.

: He had amazing qualities.

: The other person may have had plenty of evi
in him.

The correct segquence should be
(3] QPSR fb) RPSQ ict PROS (di Q5PR

5, : Everybody thinks that this is the Age of Reason.

S : Obviocusly we must reexamine the visw that this
i5 the age of Reason

P . Reason takes a backseat at such times.

& : The ordinary events of lifle seem to support this

R

o

mE D

view.
: We must therefore avoid the development of
such situskion.
S : But the behaviour of people in crises makes us
doubt this,
The cormrect sequence should be

(a] ROPS ol SRQP ici PSRU (d} OSRP

S, : Our villages are not now as serene and peaceful
as they had besn’twenty live years ago.
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65.

66.

. This often vitiates the fraditbonal tranquility ol

the rural way of living.
. The village people now seldom hve under the
overall command of any single powerlul
headman.
: Local political leaders mostly

command them.

conlrol and

R : Party politics had entered into the peacelul

villages forcing the villagers lo live polanzed

political lives,

: One dangerous consequence
are often dragged mto clashes even wilh their
own relations of different political behel.

of this s that they

The correct sequence should be
fa) PRSQ  [b) RPOS (] OPRS (d) PSRQ

5, : People think that poverly is a great cuise and
wealth is a source of happmess i lle

S, . All great men were bom poor

P : A life of poverty gives more genune satisfaction
than a lie passed i affluence which
encourages dependence on others.

C} : This is untrue

R : Poor people are [ree from the evils which
surround the nch.

$ : They have sympathy for one another and are

The correct sequence should be

§:

8.

more self-reliant

(a) PSOR (b) GPRS (c] SROP [d] RSPQ

Bofore man seftted down, his life
governed by the seasons.
However, we do not know when man first
began to divide the day into twenty-lour hours,

and the hour inlo sixty minutes
. S0 man began to measure tme, and first he

looked for covenicnt unil of measurement, one
of which was the day.

s This was done by making a mark for each day
on a tree frunk

: Once he settled down to the agricultural way of
life, he had to be able to calculale rthe change
of seasons on which agricullure depended.

: In order to calculate the passing of bme, i was
necessary for man to record the number of days
in each season,

was nol

The correct sequence should be

5
PR

wm O

(a] PORS (b) RPSOQ fe] QPSR {d] RSQP

Imitation is not civilization

When a man has begun lo be ashamed of his
ancestors, the end has come
_- ;f;.s_ ass in a lion's skin never makes a lion.
: maI: venly the sign of awlul degradation in a
o imitati

w?l‘::fd;?":mlfa:ﬂn never makes lor progress,

an has begun to hale himse

e Tat Blory s mmi : ale himsell, then

The corract sequence should be

(5} PR
i) ppmé (6] SPRO
ld) Qsrp

67

69.

/0

more  than any  other  forg of

S, : Democracy,
gavernment, needs good citizenship,

§ . That is not the instinet of the natural man; yq

" somehow that habit, has lo be acquired,

p . But il has lo be Ireedom of service sell-chasay
and sometimes of sacrifice sell-inposed.

Q : Under absolutism  oOr diclatorship, men are
forced into line.

R . Freedom is the essence of democracy : the mare
complete the democracy, the more complete the
freedom.

< . Bul in a democracy things are not so simple.

The correct sequence should be

(a) SQPR  (b) RSQP €] PROS (d) QSRP

S, : In 1668 an important discovery was made.

s, : That was the begining of the end of the theory
of sponlaneous generation of hmgher plants and
animals. _

P : He put some rottng meal and fish in open jars
and watched them.

t3 - When he covered the jars with muslin, he found
{hat flies came and laid their eggs on the
muslin, but not maggots developed on the meat,

R - In time, he noticed that flies came and laid their
eggs in the meat and the maggots hatched from
the eggs.

S . An Malian physician named Redi decided to test

that worms  were  generated

the idea
sponlaneously in rotting meat.

The correct sequence should be
{a) POSR (b) SPRQ [c) SRPQ (d) RPOS

. There is not sound more familiar in Calcutta than

8
the clanking of its lramcars.
3, : Their progress is regarded with the mixture of
and embrassment reserved for the

dread
approach of a cantankerous old aunt.

F . For a growing body of opinion in the city, trams
are a symbol of urban blight,

G : It is glso an irritant,
R : All day and late into the night the trundling roll

of a tram has become a symbol, a portent.
: Slow, overcrowded and unwieldy, they are
thought of as obstructionist and outmoded.
The correct sequence should be
(a] ROPS (b] RQSP (c) QSPR {d) PSRQ

S, : In England, yesterday, villagers were amazed to
see a number of youths floating over a field.
S, : The others, however, returned safely to earth by
puncturing their umbrellas before they had risen
very far.
P . One boy let go his umbrella and landed on a
cow from a height of about ten feet.
: Luckily, there were not as many casualties as
there might have been.
: Another ended up in a pond.
: The youths, it appeared, had inflated their
fathers' umbrellas with hydrogen and as a result
were borne skywards.

w

nm 0




cect sequence should be

, col
ﬁnl l;;QFH () PUSR lc) SOPR (d) PORS
@
A\ recent survey reveals that Indian Engineers

g qay an immensely  signiticant
\merican software industry,

It is high time the leaders addressed

S o this issue seriously.

Not only this, the Indian Americans

e in  the

themselves

own al
F g5% of the small information lechnulutwd ;:ﬁf;
in the us, ) -
3 and then, 28% ol these hold a PhD-the highest

ercentage among all ethnic groups

the soitware industry,

g - Some dollars might be flowine
pest of brains are surely be
nalion.

5 : Whal catches the attention at the Ve
the number-over a mullion Indians
American software industry,

The correct sequence should be

(al POSR (b} SQPR (¢} SQRP

(ps 2009-1

n & Having visited the Taj Mahal many lourists think
that Agra has little else to offer,
§, : There are few other buildings to match the

delicacy @ WM o gl tu'ul
e

P .0One of thes 15 surely the tomb of
lnmad-ud-daulah.

Q : The design of the whole lomb was given by his
daughter Mur Jahan.

R - After seeing the Taj one could profitably visit
hall a dozen other Mughal buldings.

S - This tomb has the delicacy of a baroque jewel

mvolved 1

] back but the
being lost 1o the

Iy outset is
work in the

[d) SPOR

Celse,
The correct sequence should be
(3] R50P (b} Q5RP (c) SPRQ (d) RPSO
I8, For yvears the old chair stood is one of the empty
antics.
3 ¢ | saw my parents madly in love again.
P : S0 when | saw it for the last time, it stood
there.
Q : When my mother died, 1 wanted to sell it but
could not.
R: It was there for many years after my father
N tliiecl.
; eped in the past.
A Peeped in the p

¢ torrect sequence should be )
@ PORS (o) SROP (¢} RPOS (d) ROPS

- liness may start with almost any sign, but some

. 9 them are much commoner than others.
¢ As soon as this happens he must become alert
B ﬂbf:ut the signs. )
Q. Il is important to note these signs. )

ften the first sign of something wrong is that
R the patient just does not feel fit.

©Y may help a doctor to decide what is
Wrong

g

75,

76.

17

18.
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S - He usually relies on these signs  for  lhe
thagnosis ol the iliness.
The correct sequence should be

fa) PRSQ (b} RSOP (e} POYSR [d) ORSP

5, : Mewton was perhaps the greatest scientist that
ever lived.

S, : Newton went home and worked quetly by
himsell for about 18 months.

P : But when he was only 22, a temnble plague
epidemic swept over England.

Q : He was the son of a Lincolnshire farmer, and
was born in 1642

R : Therefore the universities were closed

S : He went lo Cambridge to study mathematics
when he was 19

The cormrecl sequence should be

la) SPRQ (b} QPSR {c} SOPR
8¢ Poverty 15 a God's curse.

8, : Is not poverty a God’s boon!
P : These persons getl themselves enrolled as poor
persons and get all the benefils of poverly.

Q : It is nol necessary for a person to be actually
poor for getting enrolled because it ecan be
easily managed.

R : It may be true for a few bul to many 1t is just
its opposile.

S« Such persons consider it to be a source ol
enjoying life without eaming enjoyment.

The correct sequence should be

(d] Q5PR

(a) ROPS [b) QRSP [¢] RSPO (d) SROP
5 ¢ Belur is 35 km from Hassan.
5, + They depict young women musicians and

dancers in various poses.
P : Seen from afar, the star-shaped temple,
characteristically Hoysala, is not very impressive,
Q: Il stands in a courlyard surrounded hv a
rectangular wall,
: But closer it is dazzling and marvellous; and the
entire exterior is decorated with sculptures, the

loveliest being the panels right and left of the
main doaor.

S : Chennakesava Temple is dedicated to Vishnu.
The correct sequence should be

[a) ORSP (b) SRPQ

[¢) SPOR {d) SQPR

S, : When his bussiness lailed, he began to look for a
job in an office.

S, : Unable to bear mistortunes any further, he
started loying with the idea of ending his lit= of
burdens and strains.

P : To overcome depression he took to drinking and
became addicted to it ‘

Q : He soon realised thal nothing was more dillicult
than to find a job.

R 1 Without job he lailed 1o
requirements of  his
highly depressecd.

meel  the

daily
lamily  which

made hm
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18,

80.

invariably between husband

S - Quarrel ensured
a slate of

and wife when he returned home n

drunkenness.
The correct sequence should be
{a) PORS (b) SRQP
{c) QSRP (d) QRPS

S, : Unlike many modemn thinkers, Tagore had no

blueprint for the world’s salvation.
ays dehight, as a singer he

S, : As a poet he will alw
will always enchant, as a teacher he will always
enhighten.

P : His thought will therefore never be out of date.

Q : He merely emphasised certain basic truths
which may ignore only at their peril.

R : He believed in no particular ‘ism’

S . He was what Gandhij rightly termed the Great
Sentinel.

The correct sequence should be

(a) SRPQ  [u) PROS (o) RSPQ (d) ROPS

S, : Louis Pasteur had a very busy and interesting
life,

S, : He was always very proud of being able to help

his country in this way.
P : Among the people whom Pasleur was ahle to

help were brewers, breeders of silk worms, and
cow keepers, all of whom were trying to carry
on important industnes.

. He worked hard in his laboratory with test

tubes and all kinds of experiments.

R : He was working to help people who were
suffering in some special way from disease.

S : He not only made some exciting discoveries
about germs but he was able lo use his
discoveries 1n very practical ways.

The correct sequence should be

{al SQRP {b) PORS (¢} QRSP [d] RSOP
S,: Tom Walker and his wife were always at
loggerheads.

S, : Tom silently thanked God for this relief.

P : She never tired of reproaching him on this
score,

Q : Tom was incurably lazy and talkative.

R : One day Mrs Walker caught a deadly cold and
Shl.?l'ﬂ}" alterwards, died.

S : This was a constant source of iritation to his

wile,
Tl;e} l;:rract sequence should be
a) PROS
[c) SQRP Eg %S;

5 : 50 we went on i '
in the quiet, and the twilight
e ;i_:apened into night, ’
g ﬂr;: T‘Zut:ﬁ darkness grew deeper, she put her
oy s my neck, and closing her eyes
P . The or rfu .:Iar-.d her face against my shoulder.
nd grew dim and the trees black,

Q : The clear b
lue of the dj
is
star afler another Cline m:tﬂnte faded, and one

83

84

8.

86.

R : Neena's [ears and her fatgue grew upon her.
g : 1 look her in my arms and talked to her ang
caressed her.
The correcl sequence should be
(a) PROS (b) OPRS fc} QPSR (d) RSPQ

Kennedy kicked moodily al the leg of the chair

&y
which he was holding

S, ¢ It was a depressing beginning

p . Now his chiel desire seemed to be to score off
the human race I general, his best friend
included.

@ : If he had asked Fenn 1o help lam in a tight
place, then he knew he could have relied on
him.

R : Last term he and Fenn had been as close
friends as you could wish lo see.

€ . The feeling that his whole world had fallen

about his gars was increasing with every hour

he spend at kay's.
The correct sequence should be
{a) PRSQ [b) RSPQ {¢) SRQP

S, : | sat al the table aned ale.
normal Ramaswamy, hushand of

ld) RQPS

5, : | was just lhe

Madeleine.
P : My breathing became suddenly difficult,
| concentrated on my lood and | was convinced

Qo
I had to eal.

R : 1 stooped, however, any exhibition of the
exlraordinary.

S : Bul lungs have temperament

The correct sequence should be
(a} PRSQ (b} Q5PR [c) Q5RP

S, : Todd borrowed this dollar last year on the Bth of

{d) SPRQ

Aprl.
: And | saud, "certainly’.
. He needed a dollar to pay his taxi and I Jent it

to him,
- He merely said, ‘Let me have a dollar, will you'

Q

R : It happened quite simply and naturally.

S : | hardly realised il lill it was all over.

The correct sequence should be
(al PRSC {b] RSPQ (c] QRPS

S, : People have always been lascinated by dreams.

S; : But a small number, perhaps less than 5% have
them regularly.

P : In fact, only recently have there been serious
studies to tind oul how many of us actually
have nightmares.

Q : Mow that is changing.

R : But the study ol mightmares has been curiously

w

(d) PORS

neglected.

S : While results so far are inconclusive, it seems
fair to say that at least half the population has
occasional nighlmares.

The correct sequence should be

(a) SRPO () ROPS ic) PORS (cl] SQRP




s

']

Az
‘fi ﬁsﬂs

gaturday.
A dren had already bought eoasted gram
YT uts to get inte a picnic mood.
% ,,,dl’_‘?z".ied us all to the zoo.
[ A taﬂw anted 1o ba taken out and we decigad
ﬂ:ﬂﬂke hem ta the local zoo.

o tasim_
B wuge. .

ha pought the tickets and entered thp zon.
i e ol the following i& the corcect sequence?

“g] wsp o RPS (o) ROPS (d} PROS

¢ officer rose to his leet, trembling,

pour later he retumed to Tamp.
" yip failed 10 find him there.
. nimsell iogether, he fan rapidly away
the clif to & pownt a half-mile from jts faot
. He was disappointed.
EHE E}f'F'EdEd to find the horseman somewhere
thels. S
yhich one of the icllowing is the correct sequence?
ARG QPsh ) QSPR (d) SOPR

<. | was & bitterly cold night and even at the far

" end of the bus the wind cul like a knife,

g - [ saw ouble brawing.

p - The conductor came in and took the fares,

g The younger ol the two women was dressed in
spaltkin and camed one of those little Pekinese
dogs thal women like to camry in their laps.

2. The bus sicpped, and two women and a man
got in together and filled the vacant places.

5 - Then his eves tested with cold malice on the
heady-eyed little deg.

Wuch one of the fellowing is the correct sequence?

rs two young children were at our

=T BT

b ROPS (b RSQP (] RPQS [d) PSRQ
5- Dinnsr had been served-his daughter lald out
the plates.

% : Then, silently she left the table to relire for the
night-it was as if she had never been there.
F:She was just a child, only l4-tco young, tod
smple to know to understand.

Q:ll':e sat down groundly, not saying a word to
Br.

B:She had already had her meal and was
:;“"ding by his side, not quite knawing what to
o,

‘Bread and cheese—a simple subsistence at the
o 0 of 3 not-so-simple Life.

" one of the following is the cormect sequence?
VSR iy RPsQ  fc) ORPS I} SOPR

b Wheq ™Y car broke down, I took it to the only

% mm“"ﬂt available in our towt.
Y pushed the car down one street and up
I and soon we had gone through most of

the Sheets in the town but the car wouldn't

g3.

g8,

U .

@

5

LR,
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: But it just refused to starl ) .
: | went there al the appointed time lo collect 1t.
. So | sat at the wheel and the mechanic and his

helper started to push it )
He said it required some minor Iepairs and
asked me ta collect it in the evemng.

Which one of the following is the correct sequence?

8

fa) SQPR

. Some people prefer country life to city Life.
. For these reasons more and more pecple are

: Country people five

(b} QSRP {c) RPOS i) PORS

leaving the country 1o live in the city

. Life in the counlyy is guieter, ¢leanet and less
heclic. ‘ _
: The ity also offers more Pprivacy SINCE

neighbours are too busy lo be interfering in the
affairs of others.

: However, [he city offers more excitemnent, &

wide variety of activities and a chance to meet

more people,
D hes longer and generally seem

to be healthier and happier.

Which one of the fcliowing is the correct sequence?

{a] PSRG
5
5
P

Qo
E

5 :

(b} SROP i) RGPS [d] QPSR

The clerk read the statemant loudly and clearly
They retumned in five minutes.

The judge brought down the gavel sharply and
robTid.

He told the jury to retumn a lawful verdict.

We, the jury Find the defendant not guilty.
provided he returns the mule.

There is not swch werdict in the law the

defendant is either guilty or not guilty.

Which one of the following is the comrect sequence?

S|:
g
P
Q.

R :

5

(a}) RPSQ {b) RSPS ic] QRFS (dl PSRQ
Cne day [ went into the water off the coast of
Africa.
I hurted at him the rubber fins.

I sighted a shatk at shont distance from me.
He launched twowards me as hard and swift ag a
missile.

1 wes floating at a shallow depth, without
making a movernant

: BEvery muscle of my body tensed.

Which one of the following is the comect sequence?

LT

[a) PSQR
<) RPSC

5

(b} SORP
(o] POSR

There i5 no reason for the terror which the sight
of a snake caunses In most people.

Being aggressive by nature, they can attack
human bDeings for no reason at all, taking a

fisherman or swimmer by surprise in the water,
where the man is somewhat helpless.

P : Of the poiscnous smakes, cnly those found in

the sea are always danegearous.

: They are only too anxious to aveid bhuman

beings.
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97.

98.

33

R . Many more people are killed, much more
frequently by motor-cycles and cigarettes than
by snakes,

S : The majority of snakes are harmless.

Which one of the following is the correct sequence?

(a] SQRP (b) RSOP [c] RPOS {d] PORS

§ : | had not seen my father loi several years.

S, : His words sank deep into my heart.
P : I met hun late one evening in his flat.

Q : I wrote him a nole suggesting a very early
meehng

R : He listened to my story in silence.

S : When he spoke, his voice was soft but without

warmth
Which one of the following is the correct sequence?

{a] QSRP (ls) PORS (c) QPRS (d) QPSR
Gapal worked as a labourer at the building site.

5

S, : He anscrewed the hid and lound a valuable
collection of old silver in it.

P - Bul Gopal made a bid and he got the box.

(1 - There was no key to it and it seemed useless

but Gopal took il home.
R : Once while returning from his work Gopal

stopped at an auction sale.
No one seemed to want a rough old box when

5 .
it was pul up for sale.
Which one of the following is the correct sequence?
{a) SPRQ (b] SRPQ [c) RSPQ (d] RPQS

S, : The ancestors of whales, it is said, lived on land,

for they still have slight traces of hind-legs.

He has luppers on his sides to keep him

balanced and layers of fat or oil under the skin

which furnish heat and make the huge body

light and buoyant.

- But  ages ago, whales changed
home-moving from the land to the sea.

: He is shaped like a submarine boat, with a tail
lurned into a power paddle.

: The whale s suited to live in water.

: They are warm-blooded animals, and feed their
haties as land mammals do.

Which one of the following is the correct sequence?

fa) PRS0 (b) SPRQ (c) ROPS {d) QPRS

Sy ¢ There was a check-post for passing vehicles at a

village called Gobindapur, a short distance from
whnuf the road to Dhanbad branched off from
the Grand Trunk Road.

o He asked me more than once if | was sure Lhat
the man had noted the number down,

S

thewr

m::rﬂ e

wn

P . L 2k
When I came sulficiently near, he moved back
o imrl the barfer was lifted,
A :,I,m;"d down and found a man COIming
Bl Im;r with pencil and book in hand,
uncle that the man had taken down the

numhber of 1 ; y
practice, ¢ car, adding that it was a routine
5 :As | approached

I'ITJ'“rn “I"-c"“i't}f_ it 1 saw the barrier I:‘Dming

100.

101

CDS 2008-1I
102. s, : Did anything happen?

103. S

Which one of the following is the correq - .
fa) RGPS (b} QRPS  [r) SOPR ) F-‘.:stErTmM

5 : My journcy was lo lasl for thirty-six houry
S, : In the steel trunk under the seal thep N
bag containing two hundred rupees thy duiml E
belong to me. Mot
P : Every mule of the country through which
train was running, was interesting the
: Yet I was not happy.
: I had the carmage for myself.
: The train would stop for breakfast, luncy ang
dinner.
Which one of the following 15 the correct Sequenes
fa) RSPO (b} SOPR () POSR ld] ReQS

S,: The life of early men had advantages gy -
disadvantages.

5, : On the whole, there was [nendship and anty
within the tribes, |

P : Then, they had enough physical exercise whicy
made them healthy and active,

Q : They could roam for months without fear g

R

t!::;:to

meeling a stranger.
: One of the advantages was that they were o

overcrowded.
S : They lived in small tribes where everybody

knew everybody else, ;
Whichiyeme of (he following is the correct sequence?
[a] QSRP [b) ROPS {c) SPRO (d) PROS

S; : He did not download or tamper with any of the
code to which he gained access,

P : But the intruder did little more than peek and
poke around.

Q : Not much, according to Microsoft.

R : He may have been some of its "Source code’
the secret recipe for ils soltware.

S : Yes, somebody invaded the fum's corporaie

network.
Which one of the following is the correct sequence’! |
(a) RPQS  (b) QSRP  (c) RSQP (d) QPRS

Another significant change in the past live yee®
have been the global resurgence of ethnic s
religious aspirations, ned
S, : This phenomenon is evident not only i A:Iah
and Asia but also in Europe, notably 1

and Spain.
P : No less than

15 new States have emerged

that region since 1990,

Q : This manifests itself in many different wa&'ﬂ--lrﬂ
R : Another manifestation is the growth of ety
or regionalism as calalyst for new e

arties. i
S gne is the 'mew’ nationalism thal 1S mmm,ﬁe
the wake of the break up of the Smllﬂj::::lfﬂl"’;

Which one of the following is the correct iHF’S
(a) GSPR  [b) PROS  [c] PSOR (dl O



fs) PRSQ
. §:

S'b:

p : Of course,

R

5

. The Cold War was suddenly over,
curtain collapsed, communism melied away.

- Most  of

. Eighteen years ago. Germany became whole and
free again after forty years of cruel —

October 3, 1990,  reunification was

: ceremoniously enacted.

ut on November 9, 18989, the Berlin Wall was

: z‘maculuusly breached,

. within ten months after the Wall came down
" Germany had regained its national unity. I
. Not many contemporaries hacd expected this to

happen, oF to happen within the span of their
lifetime.

the Iron

ich one of the following is the comect sequence?
(6] RPOS le) RPSOQ (d} PROS

There are a number of bad habits which poor
readers adopt

Young children and very poor readers often
point with a finger at each word in tum,

there must be vigorous mental
activity.

: But extra body movements, such as pointing

with the fingers or moving the lips, do not help
reading

In efficient reading, the muscles of the eye
should make the only external movement,
these involve wusing extra body
movement in the reading process,

Which one of the following is the comrect sequence?

fal SRPQ

S

P:

Q-
R:

5

B 5
++They have but

{b) POSR {c) PRSO (d) SQPR

Matenally advertisements do us ne good.

one reqguirement that
intrusion should be conspicuous.

The advertisements tread closely on their heels
and destroy its effect.

Spiritually they are one of the worst avoidable
evils,

Our buildings are covered with prints and
pictures that distract and wear us.

- Architects might give their designs dignity or
the beauty of pattern.

their

Which one of the following is the correct sequence?

fa) ROPS
. 8 .

(b) QRPS {c) RQSP [d) QRSP

Both Ratan and his son Moti were idlers and did
not like to do any work.

Sc:ln faet, they prided themselves on their
inactivity and idleness.
P : The result was that their idleness increased all
the more,
Q: His wife had introduced order and industry in
the house.
R Ratan's wife had died long ago, Moti had
g . Jamied in the preceding year.
* She would work herself to death and eam the
G daily feed for both of them.
*h one of the following is the correct sequence?
o PR (b) SQRP ‘
1 Rosp

{d) RPSOQ

108. s, -

108

110.

1.

&

R : They had enjoyed the roanng of

s
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A hundred metres further along the trail Mahesh
and Rohini stopped short

Bul now mother bear-perhaps the same gnzzly
bear could be just over the ndge obscured by
the bushes.

They had shouted and waved a
through binoculars as the mother
up and roared at them.

nd watched
bear reared

. Two bear cubs were playing in the creek gully

aboutl 20 metres to their right.
the mother

bear as a distance of a kilometre and a hall

separated them.
The day belore, they
and two cubs.

had seen a mother bear

Which one of the following is the correcl sequence?

Sﬁl
P :

Qo
R : The steam is then made to turn a turbine and

s :

(a) RPSQ
5 ¢

[b} Q5PR (c] RSPQ {d} OPSR

In an ordinary power station we bum fuel to gel

heal.

However, instead of getting heat by hurning
fuel, we get it from the nuclear reactor.

In a nuclear power station we burn water inlo
steam and then use the steam in the same way

It is from the generator that we get eleclrcity.

through the turbine a generator.
This heat turns water into steam,

Which one of the following is the correct sequence?

{al PROS
51 H

56:

s

{b) SQRP {d) PQRS

One morning, a few days before Rahman, the
Cabuliwallah, was due to retwrn to his country,
Tagore was working in his study.

They had quarrelled, and Rahman had struck
the man with his knife.

(c] SROP

: There were blood stains en his cloth, and one of

the policemen camried a knife stained with
blood.

: Suddenly he heard shouting in the street, and

he saw Rahman being led away between two
policemen, followed by a crowd of curious boys.

: He learned that a certain neighbour had owed

the Cabuliwallah some money, but had denied
it.

: He hurried out and stopped them lo inguire

what it all meant.

Which one of the following is the correct sequence?

{a) RSPQ
8 ¢

m P

(b) QPSR (c] RPSO (d) QSPR

An experiment was conducted in England to

study what happens to the bodies and minds of
people travelling at high speeds.

: Psychological tests showed that their ability to

make decisions decreased quickly.

: Then they were flown to America.
: Travelling also had an effect on the minds of

these people,

: They were first kept under observalion in

London.



582 CDS Pathfinder

12,

13

114,

S : It was found that as they traveiled from cone
time zone to another their Dlood pressure
moved away from the normal.

Which one of the following is the comrect sequence?

(a2} RQSP {b] SPRO ls] RPSG (d) SORP
5 : All the fossil fuel that we use today ceme from
green plants.

3, : The incoma thal Dr Calvin is lalking about is
the sun's energy which living green plants
capture and store up every day.

: “And now we are buming it all up in just 108
or 200 years!” says Dr Calvin,

: We have nearly used up all cur savings.

¢t ook hundreds of milliens af years for those
planis to change into coal, ol and gas.

3 : “It is time for us now to begun living on our

income”®, says Calvin,

Which one of the following is the correct sequence

=mo o

[} OSRP  {of RPOS (¢} OPAS [} RSQP

5, : The 'touch-me-not' plant folds up its leaves when
touched.

S, : The folding up of the leaves is cantrolled by the
pulvinus,

F : How ig the plant able to do thist

Q : At the lower end of each laaf i a tny sweliing,
called the pulvinus.

R : The pulvinus acts as the brain' or control
centra of the leaf.

5 : It is only in recent years that 2 possible answer

hat been found.
Which une of the following i35 the comrect sequence?
Izl RSOP i) POSR (o] RCSP id) PSOR

S, : A lower division clerk who has been working in
CPWD for the past 15 years, won T 1 crore in the
recently launched programme ‘Kaun Banega

Crotepatl’,
S; : Because the publicity that he received was

" really disturbing him.

" P : Hix fellow clerks in the department approachad

115,

him with propesals to launch some joint
projects.

O : But he shied away from both his fdends and
relatives,

R : His relatives advised him to Jeave service and
start hls own business,
5 : He listenad to all patiantly.
Which one of the following is the romect sequence?
fa) POSA fb] SRPQ fc} PRSO (d) SQFR

8, : What is freedom?

Sg : Same peopie feal that we actuelly suffer from
1“_::&1 may be called choice fatigue.

Pihere is 30 much choice that w it di

o e find it diffculc

: Fartunately, we

cholce,

: ﬂ‘hﬂm tFﬂﬁ;ﬂﬂhﬂH}f of choice and the

1'11'15!? C® wWe are net human bein

but orly inanimate objects, e

are now living in & world full of

moon W

118, 5, : 1 did not know Nehry at a] intimg
Sﬁ :

5

B e L J L SLINY

: Freedom s the rnight o choose.
Which one of the following is he COTteCt 4,
(o) PORS 16} SROP () PROS g S

P

Qo
R :

5

Which one of the following is the compet ke

tely

It is more comrect {0 use the word
“Fﬁ*au

than impression.
But his personality made an
impression at my very lisst meeting wﬂmg%
Nor was the eflect he made just ap Mree.
This impression did nol change over ihe 3ion
; In fact, I had nol even met him Many m“?::'!

B SORP (BRSO f0) SPRD g o

CDS 2007-11

118

118,

18,

SJ:
5.

F
Q.
R
s

I first came to Poland in the avtumy of 158

Was 1 still interesied?

: I had been keeping an eye on the nokice

of the English Department for a Prospectve b
It was my last month as a student , the
Urivarsity of York,

: It was at the University of Lo'dz, which ) had
never hsard of.

: One day [ spotted a litde note fancernmg ,
lectureship,

Which one of the foliowing is the tormect SEque el

is) SROP
S| H

o

M wmo N

&l OPSR (e} SPOR {d) DRsp

Avintech s an export orented unit and s
established business group which i seeking
£APONEION.

: Dynamic and hard-werking graduates alone cp
join.

: It is one of the largest Medical Transcripion
Companies in Western India.

: It is in the city of Ahmedabad itself.

: It olfers tha hottest job opportunities of the 218
cantury

r It has entered into a technical collaboration wih

Heartland Information Services, USA. '

Which one of the following is the comect sequence!

{z) SQRP
ic) SPOR

Sla'

5
P

(b) RPSQ
(d) ROSP

It is perhaps coincidental that the final Booker |
Prize of the twentieth century should ge lo Soh
African writer.

: The formal structures of a modem democrtf
have beem put in place.

i In political terms, there has been, if Pt nl‘-;
re;nlur.{un. but a partial overturning of the
order. )

: Apartheid, the dominant reality of South Africs’®
twentieth century, has been dismantled- ad 0

¢ It §s not s0 much that South Africa is pOB*,
enter the new millennium weighed down bf

rim oppreszed past, ¥

: gut as you reI;‘:.I “Disqrace®, JM Coelt®

eighth novel, you become aware of 8 <

kleak appropriateness.
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'.'I-'hff-'h one of the following ;
g is th

lh] QRPS LL} COrrapy "
. -
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1) SPRO T
. ; ; LS TE] e
121:' 5 ¢ FIDI' the [first time in th [d] {}Ph'; neey .
prices ol essenti e last 30 Which on
al goads 1y, Years e of the (ollo -
trend. s have g . the retaj fa) QPSR wing is th
h shown ' redail 12 () POSH : e comecl se
5, ¢ But ! ey seem to ha 4 declinin 3. 8: wh fc) QPRS o
p Jhe retall prices o5 mnds analy y h en there is a disaster,it G
2 oy h i
.:;I]-.L\.ra'f% been going up essential ,—.::!" turn, wtr:;rﬂ?se you are to th S Impact; depents: an
a: ﬂi l?n li;"l{lem Imm' . icles  have S, IE1 $ it happened e people and the place
prv 5 ecembe COMmp: ere lo mak ) :;
g : This indicates ur .195_‘3 and S“Iiﬂun betwe P be that | 511.;.._1[,:]:[ one request to God }
d : e i g ecemb Hen The Ir die tra it would
'[I?]'Ili' encies to move up nability  of ber 1999, e dﬂ-m accident that Pgmd under water,
s ] is is a unique ]}I.'tf_l-r!i wards in icmqllllitﬂi[}ndw ezl ays ago is the kind ﬂppEInEﬂ in Quilon
which one of the followi omenon, Q:lt gav?agme'i of nightmare 1 have
neg i 2 m
(a) PSOR (b) QRPS g is the corpe a““‘m’ams_e restless sleep for _
. Th (c) PROS Cl sequence? : Though 1 ki several nights
g, &+ There Were two poigna el Though I lived in Delhi, 1 was '
n - d i i
: '[r‘;‘j] great sports: pers t farewell Jast S : It is where | quite familiar to
5, : This showed how aﬂnahtie;;_ week to my life spent the first seventee
recogni 3 : ' n
P 'm.::gmzerj by sports m? real player sh Which one of the | L
- f ~ ~ E a
Mmhgrgﬂt West Indm,:h“m' s ould  be (a) SRPQ () nggmmg is the correct se
q: Thi all passed awa last bowler 124. s : Al (c) RSPQ 5 quence?
: This was Steffi Graf Y prematurely Malcolm 1t attempts  to ) SRQP
g : The other w s farewell in N atitisoh discover o
sport likl as a playe in New Yo S. : Th sphere of Mars h xygen in the
port likle no one ver who domi Tk. ¢ + Lhe presenl ave been uns
s ; This is an age w;]ﬂﬂ had done E“:lnaterl her p seem to be a:‘acmu-f supply of gwg::lcer ks
the re en m efore, : Th equate t il oes n
e ¥ e r“"3'3'5;11&1'3"5l sportspersons en] ki e Bzl e an Mck.
Which Jons. ion of their effort enjoy Q- ltEEn completely oxi d?zgedsme of rock that h“'
one of the following i AL . W;PPEEIS probable 'th:t M =
(a] QSRP g is the correct s ere weathering of ars may be a plan
() QRSP (b} PRSQ equence? oxidation has resul rock followed b u-le-tt
1 s (d) PSRQ 5 depletion of o St in. dloosl coxirheie
,: The North-Ea : Indirect evid Kygen ?rum the atm complete
compri st of the Caliph' the red ence of its existe SRS
S :In prised a number of Tu ~a ph's dominions S:Itisb h:ﬂﬂlout of Mars. nce is provided by
il sma Ji?n' the szﬂntinerklsh tribes. more 1%;_:1“&‘1 that the amount of
5 i L o .
O e ed in the Battle of M army was utterl the Earth' S““E thousandth part of oxygen is not
e tenth century, th elasgird. Y Which one atmosphere. the amount in
and vigorous. . these Turks of the followi
Q: grew a) PRS ng is th
g ?hh'?jr had been converted W e Q[0 SRR (c] SGP.: e i
eir faith much ed to Islam but th - 8 : The (d) R
f I cultur 5PQ
and the Persia more ﬁETCEIY than th Y held ta al Ftugram AR
R:Th ns to the 5 e Arabs stes, nsisted of diff
: ey conquered Am“; ?uth, S, : Finally the Nati erent
- lnmtJ;l:nls of the Brz-ammlapﬂi:,m struck al the f:x : Jll\fter the Prﬁ?el:!ntahl Anthem was sung
next centu B : It began wit g ere was a da il
Eﬁe down to h?es:pg::]#] of Turkish tribes R : When the s]:;[ :r:._dm““‘:ﬁﬁnn. el
ph their nominal rul ia and made the S : The dance w ed there was a
er. Which one as followed by a 5k‘gmup dance.
of the followin it.
(a) QRSP g is the co
(b} SPQR rrect sequ
EXa . (c) QPSR @ quence?
1[?155 | AnswErs SRQP
W a]
+1d) 3. (c)
1 4,
2, (q) 2. (c) 13. (a) (c) 5. (c) 6. (¢)
] 22. () 14. (c) 15 7. (c)
-(d) 23. (a) @) 18.(d) 8. (c)
4 32. (b 24. (c) 25 17. (b s 8. (a)
5‘.{131 42 tb; w0 M@ t{g" 2.0) & {dlr Buihy =, Bk by
. } . 43 d a . ] 3& . 23. {c s u. {c}
52 (c 1) 44. (d) 45, (b - () ar. (c) ) 29, (b)
. i i a m-
) 53. (d) 54. (a) . (b) 46. (b) a7, ( 8. (d) 39, (b) (c)
5. (b) 56. (C c) 48. (o) 40. (b)
() S 5 49.(c) 50
80. (c)

N
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ercise Il

EILIE: dw) @ 4@ s  s@ L@ 50 o
M@  12.() 13 14. () 15. {b) Lt LR 840 i a8 i
N 2@ W@ 2@ @ 2w 2@ 2 i Sl
e s Usmie ssale ste e 0 e Al 4
a1. (c) 42. (b) 43. (a) 44. (d) 45. (c) 46. (b) 47. (b) 48. (a) 49. (d) 50. (b)

Exercise Il
1. (b) 2. (a) 3. (c) 4. (b) 5. (b) 6. (a) 7. (d) 8. (d) 9. (c) 10. (a)
11. (¢) 12. {d) 13. (¢) 14. (c) 15. (b) 16. (a) 17. (c) 18. (b) 19. (¢) 20. (b)
21. (b) 22. (a) 23. (a) 24. (a) 25. (a) 26. (d) 27. (d) 28. (d) 29. (d) 30. (c)
31. (o) 32. (d) 33. (d) 34. (a) 35. (d) 36. (a) 37. (c) 38. (c) 39. (c) 40. (a)
41. (b) 42. (a) 43. (c) 44. (a) 45. (b) 46. (d) 47. (a) 48. (d) 49. (b) 50. (b)
51. (a) 52. (a) 53. (a) 54, (a) 55. (b) 56. (c) 57. (d) 58. (b) 59. (c) 60. (d)
61. (b) 62. (d) 63. (b) 64. (b) 65. (b) 66. (c) 67. (d) 68. (b) 69. (b) 70. (a)
71. (b) 72. (d) 73. (d) 74. (a) 75. (d) 76. (c) 77. (d) 78. (d) 79. (a) 80. (c)
89. (c) 90. (d)

:11 :,'bJ] :: :b: g-; (d) 84. (d) 85. (a) 86. (b) 87. (c) 88. (c)

. [a . {a . {a) 94. (c) 95, (b) 96. (c) a7. (c) 98. (b) 89. (c) 100.

:ﬂ‘!. (b) 102. {d) 103. {a) 104. (c) 105, (d) 106. (d) 107, (c) 108. (b) 108. (c) 110, :E;
11. (&} 112. (b) 113. (d) 114. (¢) 115. (b) 118, (c) 117. (b) 118. (c) 119. (c) 120. (b)

121, (d) 122. (a) 123, (e} 124, (b) 125. (c)



